Tax Monster Outline
Personal Income Tax 1/9/06

I. Course Overview

A. Introductory Course

B. Four Essential Questions

1. What is income?

2. When is it income? ( most of course time spent here.) - important because of notion of hanging onto your money as long as you can in order for it to earn you more money.

3. To whom is it attributed? - a lot of circumstances where interest in income is divided among many people, so who has income in question when multiple people have an interest

4. What adjustments are appropriate?  

a) Modern income tax born in 1913, and from that time Congress has always included different adjustments

b) Most common is deductions.

c) When are these appropriate and on what terms?

d) Many desigened to get at taxpayers ability to pay - allocation of the burden based on ability to pay.

e) May be political compromises or bows to political pressure.

C. Public Policy - how important the tax code is to shaping public policy.

1. distributive justice - tax is the single greatest way that law affects the allocation of wealth in this society

2. other policy objectives that are affected or manifested in the tax code.  We have as compared to other nations where we have a "sprawl" or the american dream.  Encouraged through the tax incentives.

D. Statutes and Regulations - this course much more similar to law in this century, as it is all statutory and regulatory.  All things here have been passed by congress, and then supplemented by dept. of treasury and their interpretations in regulations.  Some cases, but really all positive statutory law.  This is really the meat and potatos of the law today.

1. so get a sense of interpreting these, 

2. how these work together to create a body of law in a particular area.

II. Course Mechanics

A. Without notice assignment is on schedule.

B. Problems on assignment sheet will be on claranet, do those in advance, and we will work through them in class.

C. Exam will be 5/8 at 830 am, mix of multiple choice and essay.  All previous exams are on claranet site and model answers there too.

D. Outlines of classes are on claranet, adn should be before class regularly.

III. Federal Personal Income Tax:  some context and history

A. Income

1. specific type of tax we are studying here.  This is exclusive focus of this course, so not like the remainder of the types of taxes.

2. single most significant tax in the US now, it raised in 2003 1 trillion dollars - accounted for 49% of federal revenue.   Payroll is 37%, the corporate income tax generates only about 10% of revenue.  Estate and gift tax raises only about 1% of federal revenue.

B. Evolution of the tax in US history

1. civil war created a higher tax to help out, and

2. in 1894 income tax enacted 

3. Pollack v. Famous Loan and Trust - USSC said that that taxes had to be apportioned by population, so struck down.

4. 1913 - the people ratified the 16th Amend. Which effectively overruled Pollack and allowed Congress to tax fincome and do so without regard to population.

5. congress followed and imposed an income tax, but it was only for those who earned a substantial amount of money.

6. As of 1941 only 7% of americans owed income tax.

7. WWII - completely changed the role of income tax in American society

8. By 1945, the figure is up to 65%, so basically two thirds owe tax. Here, highest rate was 94%.  So, WWII made it a mass tax and the single biggest revenue source for the federal govt.

C. Progressivity - one basic tenet of our tax - means that the larger the income, the higher the tax burden.  But, not just this, but rather the more you make the higher the percentage of your income that gets paid.  So, the larger the income, the higher the marginal tax rate. 

1. see p. 573 - shows marginal tax rates - their effective tax rate is different, because you have to work your way up through the ladder of amounts. So, really these only affect the marginal rate, so it is not really the case that the more you earn the more you pay on each dollar, but rather only more on the marginal dollars. 

2. marginal rate is the rate of taxation applied to the last dollar earned.

D. Three basic goals of tax policy

1. really four, but the first is we need enough money to support the govt, but this is not really a goal of the tax system, but a given.

2. Fairness - just not controversial

a) Horizontal fairness or equity, meaning that similarly situated people are treated alike ( real fight here is what makes a person similarly situated to another.

b) Vertical equity or fairness - think of taxpayers arrayed along a scale of well-being, so wealth or income or socio-economic status.  So, fairness in allocation of burdens up and down along this scale.

3. Economic Efficiency or economic rationality - basic idea is simple, we don't want to encourage people to do things solely for their tax benefit.  So, ordinarily in a free market society we would assume people do what is best for themselves, so we don't want tax system to encourage or discourage people from doing things they would ordinarily would or would not do. Economists call this dead weight loss to society.  

a) Example - Person A - busy lawyer not well-organized at home, wants to hire someone to keep up her house, so she will pay $100/wk to straighten house.  Person B willing to do this job if he ends up with $80/wk of spending money.  

(1) No tax world this will happen easily and they will negotiate and both will be better probably then they were.

(2) What if world where 25% income tax.  So, A will pay 100, but B will only 75 dollars left in spending.  So, B will likely not do this, so we no longer have the transaction, and we lose the money for society so we have dead weight loss to society.

b) Any tax will create some inefficiency, so the goal is to minimize this and to make things as good as possible, so we want a tax that will distort as little as possible.

4. Finally, the most important probably is that the rules must be administrable, so really enforceable at a reasonable cost.  So, this is a real world practical concern.  

5. 2-4 will be the criteria we use to look at every rule throughout the semester.

IV. The characteristics of income:  some examples

A. I receive a check from SCU as payment for teaching at law school - yes, this is income.

B. What if payment received electronically?  No different result, still compensation has been paid, regardless of physical manifestation or not.

C. Example 1 page 40 - Change payment to income minus rent and employer pays rent directly - one way to save - this could extend to allow her to benefit.

1. still compensation, not the same form, but we know because previous earning has really been converted only.

2. rent being paid is not random, but it is employer paying rent for employee, so payment for someone for services is "compensation"

3. Section 61 - note it first says that compensation is the first type of income listed.

D. What if Alice finds 1k on the street?

1. maybe yes, because she still has buying power with this.

2. Another definition from a seminal case - accesion to wealth.  Glenshaw Class - accestion to wealth over which the taxpayer has dominion.

3. Possibly a concern that the person earning it who dropped it may still have to claim it and pay taxes on it.  Maybe adjusted for in the form of deductions.  So, may make fair, but a concern that person may lie about loss.  If you really lose, though, you are in a way still not better off.

4. if this is buying power and stuff.  Is it really fair to force a wage earner who earns a thousand to pay where alice who has done nothing to earn the money.  Seems fair to force both to pay.  So, we certainly shouldn't treat her better.

E. Example 2 - insurance payment made and Alice gets at 70, fully vested so gaurunteed to her.  Her estate gets if she dies.  She lives to 70 and receives.

1. fairly common.

2. should we consider it income to her in the year that the employer buys policy - she cannot get to it now.  Note this is an employment context.

a) Not really buying power.

b) Could be buying power if she can use as security or perhaps to get a loan, or better credit.  

c) Maybe better definition is accession to wealth, because now she is better off by 10k, because according to the market 10k now is to be worth 50k in the future.  

d) So, this does qualify, because income does not necessitate ability to reduce to cash or monetary value now in the present.

Chapter 2 - Some Characteristics of Income

· Income - generally what IRS says it is

· Gross income - all income from whatever source derived

· Eisner v. Macomber - defined income from dictionary to be "gain derived from capital, from labor, or from both combined."

· Excludes windfalls though.

· Unfair and inefficient.

· Commisioner v. Glenshaw Glass - 1955 - USSC says Congress did not limit income like this.

· Haig-Simons definition - personal income is defined as the algebraic sume of (1) the market value of rights exercised in consumptions and (2) the change in the value of the store of property rights between the beginning and the end of the period in question.

· Issues with this

· Preference to rely on observable market transactions such as the sale of an aasset not just appreciationand actual earning of a wage.  

· Goes to generally accounting and how an item should be accounted for.

· We really want to ask is what we want to tax, so really income tax is income is considered a proxy measure for ability to pay.

· Non-cash Benefirts

· Gross income includes income realized in any form whether money, property, or services.

· If services paid for in property the FMV of property in payment is included in income as compensation.  

· Without this some may take advantage and benefit where others would not.

· Reduces efficiency and is wasteful.

· Hard to value noncash benefits - must ask value to owner, may need to wait to evaluate and tax.

· Competing concerns of:  fairness, efficiency, adn praticality

· Enforcement hard, cheating hard to detect, taxpayers use to their advantage, fear of growing and adverse effects on the legit taxpayer.

· Difference between cheating you can get away with and permissible conduct.  

· Meals and Lodging Provided to Employees
· What if gross income was only paychecks received?

· Could change transaction form in order to save taxes.

· Example 1

· Change payment to income minus rent and employer pays rent directly - one way to save - this could extend to allow her to benefit.

· Question 4 - doesn't make sense, because she is able to pay as if she made 60k, not the 18k.

· Question 5 - long standing law ouwld count it all - Old Colony Trust Co. v. Commissioner - held that is is "immaterial that the taxes were irectly paid over by the employer to the Govt.  The discharge by a third person of an obligaiton to him is equibalent to receipt by the person taxed."  Changed because of withholding where now employer can pay tax adn then it is credited to employee.

· Example 2 - insurance payment made and Alice gets at 70, fully vested so gaurunteed to her.  Her estate gets if she dies.  She lives to 70 and receives.

· Old Colony -= IRS says 10k received when company paid it out and taxable.  Issues diff here because it is vested and gaurunteed, and fair to person to be taxed, but a little worse, because she has no benefit from it right now, so really not able to pay based on this money.

· If included nothing, if not, then on the 50k as if it was income because she is actually receiving it.

· Yes, taxed twice, so that not fair to tax her again.  

· Tax Code 61 - p.44

· Def. of gross income and what it includes

· Treasury Regs 1.61 - p. 500

· Gross income defined in (1)(a) - any form money property, or services - po0ssible from services, meals, accomodations, stock, or other property and cash too.

· (2)(a) - compensation for services defined - wages, salaries, commissions, compensation based on % of profit, commision on insuranace premiums, tips, bonuses, severane pay, rewards, jury fees, marriage fees, contributions to clergy, miliatary pay, retirement, pensions.

· These are included - trust distrubutions, childcare compensation, prizes and awards.

· These excluded - gifts, compensation for injurities or sickness, accident and health plan money, scholarship and fellowship grants, misc. 

· 2(d)(1) - compensation paid other than in cash - if services paid for in property, FMV of the property is included in income, services paid for with other services included.  Services at stipulated price, the price is presumed to be FMV of that unless evidence to the contrary.
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p. 41-48

I. Example 3 - Like example one, but her employer is her landlord.  So, she gets free use of an apartment.  Know rental value because of cost to others renting from LL.  Living there does not make her job performance better.

A. If tax is not paid on this, then they could go into any of these businesses and it would benefit both parties.

B. Old Colony would include any indirect and in-kind benefits, which could be very broad.  No limit to how broad inclusion of all benefits from employer is.

C. Important from this example is that there was no valuation problem, but usually in-kind benefits present difficulty in vaoluation.  How should the tax system respond to these uncertainties.  Is it better to under or over-valuate?

II. Benaglia v. Commissioner - 1937, B.T.A.

A. Facts - Ps are husband and wife in HI, who filed jointly for '33 and '34.  P is in charge of hotels there operated by a HI corporation.  P was constantly on duty, therefore had to live at one of the hotels and received free meals.  Salary varied, and were fixed without reference to meals and lodging, meals an lodging not seen as part of his compensation.

B. Opinion - Commissioner added money as FMV of the rooms and meals, according to rule, but rule  says if for employer convenience do not add, but only where compensation given and in addition get room and board.  Commissioner says that the room and board was not only for convenience of the employer.  

1. Court says that room and board was provided so employee could do his job, not for his own comfort and convenience.

2. He has experience and both he and employer say that it was necessary that he live there to do his job.  So, not on the books and both took it for granted as part of his job.

3. So, in this circumstance it is not compensation.  

4. Jones v. US said that army quarters were not included in taxable income.  British case also said that bank employee who had to live at the bank did not include living there in his income as taxable. 

5. Dominant trait to not tax was because character of room and board was "imposed on him for the convenience of the employer."

6. The cases the IRS is citing are where the living quarters were not primarily for the need or convenience of the meployer. 

7. If Commissioner says it was income, then the taxpayer must show before the board that it was not income.

8. Here, evidence shows that the food and lodging were for the employer's convenience.

9. Judgement for the Ps or taxpayers.

C. Dissent - Disagrees with the factual findings that this was not part of income because solely for the convenience of the employer.  Sees salary as reflecting this.

1. Ps were managers of several clubs. 

2. Letter to employer at time of job offer said that he was to receive salary plus quarters and meals, plus travel expenses.  

3. While salary adjusted, the meals and living quarters were not adjusted.  Also, his wife did not work for the hotel but lived there and received meals.

4. So, letter is employment K, and shows room and board to be part of compensation, so it is taxable.

5. Accomodation benefitted him even though he had to live there to do his job.  His employment contract specified these.  He would have otherwise had to pay for living and meals outside of the contract.  So, he was enriched by worth of room and board.

6. Even though it was convenient for employer, it is not important.  Tax law is concerned only with whether or not P was financially benefitted by hving living quarters furnished to him and his wife.  Preference of location irrelevant, only matters of financial relationship of the two parties is involved.  

7. This is especially true because he managed several places, but only lived in one.  Also, there were periods where he was absent, and the hotels continued to operate.  Travel allowance also indicates taht taht his duties were not only in one hotel.

8. At most the arrangbement was mutual benefit, adn so the extent to which P benefitted in addition to his compensation is income that is taxable.

9. The Jones case in majority was not a private contract as it is here, and in the British case it was required by employer that he live there.  

III. Notes and Questions

A. Should it rather be value to employee than convenience to employer?

B. If employer needed him to live there for convenience, then that room and board had no market value to the employer, because employee would have to live there.  It would have no value to P because it would be required by employer instead of him.

C. What if P wanted to live elsewhere and the FMV there was cheaper?  Would it help P?

D. Wife's room and board should likely be included.  Really a windfall to her.

IV. Statutory Aftermath to Benaglia

A. New rule did away with convenience to employer standard, now look at section 119, now specific rules, but not resting on party intent at all.

B. Section 119 has caused a lot of judicial interpretation.  Several terms included are ambiguous and have been litigated.

1. Meals - do groceries from employer's commisary count?  Some have said these don't count, some count them and some non-food groceries too.

2. Furnished - is meal furnished if employer gives cash and employee purchases it elsewhere?  USSC said meal allowance payments are not excludable under the law because not furnished.  State needs to have its own restaurants to furnish the food and have it be excluded.  Sibla, court allowed exclusion from income the amount paid as contribution to be in mess at the job saying diff. than previous USSC case where not allowed because employee could choose which private party to pay for meals.

3. Convenience of the employer - Term meant to refer to business reasons other than tax advantages for giving employee below cose or free meals and lodging.  Questions arise about how strong nontax motives are and how to show them.  Section 119 says employment contract is not determinative on whether or not meals and lodging are compensation.  Usually shown by saying that employee is on-call outside of business hours.

4. Business Premises of the Employer - split in circuits of this for state troopers.  Some say all state roads and highways and restaurants on them are on business premises of the employer.  Some include houses for managers across the street.  Some down the street don't count though.  White house and state governor houses count too.  

5. Employee - self-employed persons are not covered under 119, neither are independant contractors.  But can be corp. employee even if you own all the shares, so really self-employed.  

a) J. Grant Farms, Inc. V. Commissioner, 1985, farm owner and operator, formed corporation and he owned all of shares.  He transferred all assets of the farm to it.  Corp. hired him as employee, and he continued as he had before.  His house was transferred to corp too.  Corp required him to live in his house as condition of employement, and Tax Court agreed he had to for busniess reasons.  So, corp. could claim house and upkeep therof.  And no amount of this money for house was included in his income.

p. 53-54, Note 3

I. Frequent flyer credits - most airlines have these, when earned for personal travel, can think of as discounts on prices, and no tax consequences should be there and aren't.   Business trips are different though.

A. Company may pay for employee's travel, but employee gets and keeps the frequent flyer credits for themselves.  Ticket cost is deductible business expense, if employee earns free ticket and uses for business, then company not chargeable with taxable gain.  Free ticket still a reduction in price really.

B. If employee uses credits for personal trip, she has received income, so how much because of possible restrictions on when employee can use free stuff.  And what if she would not travel without the credits at all.  Also, ticket price hard to determine.  Also, what if credits used for combination of personal and business trips, treating as income would be hard to determine and monitor.

C. IRS for a long time did not worry about it.  In 2002, IRS stated that it would not pursue actions against those who receive these credits from business travel.  Said does not apply to benefits converted to cash or for compensation paid in the form of travel, nor if benefits used to avoid taxes.  

D. Possible political motivations behind this announcement.

E. What about use of flat value per free tickets earned this way, it could be lower than actual cost of flight by FMV adn lower than value to flier, so not as bad.

Section 119 - meals or lodging furnished for the convenience of the employer

· (a) - meals and lodging to employee, spouse and dependents pursuant to employment - excluded from gross income of employee, if furnished by or on behalf of employer for convenience of employer, but only if, meals furnished on business premises, and lodging on business premises as condition of employment.

· (b)(1) - To determine if for convenience of employer, employment K and state statute that fix terms of employment are not determinitative of if it is compensation or not.

· (b)(2) - for meals if there is a charge, and if employee may accept or decline is not considered.

Regulation 1.119 - 1

· Page 532

· Meals - value of meals to employee excluded from gross income if furnished on bisiness premises and for convenience of employer.  Look at case by case and as a whole.  If conditions met, then excluded even if compensation in employment K or contract.

· Meals furnished without charge considered as for employer convenience.  True if for business reason that is non-compensatory.  Not for convenience if meant as extra compensation.  Just saying it is non-compensatory is not enough, but need to look at circumstances.  If meal furnished outside of working hours, it is not considered for convenience of employer.  If on non-working days, then don't qualify.  If employee lives on premises, then any meal on premises is excluded.

· Noncompensatory reasons include:  providing during work so that he is on-call while eating - must show on-call for emergencies that have happened or are expected to happen, if during business hours and the meal period is shortened because of type of work and so employee must eat there - unless it is only short to let employee off earlier, if meals during work hours and employee does not have time to otherwise secure a proper meal - possibly when insufficient eating facilities in the area, if meal during work to restaurant or food service employee even if immediately before or after work hours, if meal furnished to almost all of the employees for noncompensatory - it counts for all of them, if meal would be furnished during but is furnihsed immediately after because of lack of time okay.

· Meal is compensatory in nature if furnished to promiote moreale or goodwill or attract prospectives.

· Meals furnished with a charge  - if employee may or may not purchase, then not for convenience so long as employee can choose to buy or not buy, if employee charged for meals if he accepts or not then charge is not part of employee compensation.  If meal does not count under number 2 and is being charged, then fee will be included in income, employee to include value of meals not what is charged for them.

· Lodging - 3 tests to exclude

· Furnished on bus. Premises

· For conveniene of employer, and 

· Employee required to accept as condition of his employment - he may have to accept to do his job properly - ex. Is when he must perform his duties at all times or he must live there to do his job.  

· If 3 tests met then even if he pays or contract or statute say it is compensation it is excluded.  Even if employee charged whether he lives there or not, the value is not part of his income.  If tests not met, employee must include value regardless of what is charged.

· Business premises - place of employment of employee.

· Examples - 

· 1) waitress from 7 to 4 and gets two free emeals, not required to eat one there, but one she is.  Workds during normal meal hours.  She can exclude value of both meals even if breakfast is before work.

· 2) waitress can eat on premises on her days off without charge - these meals are included in gross income.

· 3) bank teller from 9 to 5, gets lunch free in cfeteria on premises, bank limits lunch to 30 minutes due to peak work load.  Cannot get food elsewhere.  Value of this meal does not count in the gross income.

· 4) bank teller again, but bank charges flat rate even if meal not eaten, not included in income

· 5) civil service employee required to be available for duty at all times, employer gives meals and lodging there without charge.  State statute says this is part of compensation - employee can still exclude this value from income

· 6) employee can choose to live at business free or elsewhere and get cash allowance in addition to salary.  If he lives at business value to employee is includible in income because it is not requiredf for him to do his job.

· 7) construction worker at remote job site, unable to get meals and lodging and bad weather, employer furnishes meals adn lodging to employee at camp site, employee pays flat rate.  Charge is not part of compensation, also meals and lodging are excluded.

· 8) manufacturing co. hs cafeteria for employees to buy lunch.  O other place to eat nearby, but can bring their own.  Amount of compensation includes these meals cost and not for employer convenience.

· 9) hospital cafeteria, no charge for employee meals.  Done because of possible emergencies, has been shown that emergencies happen.  No requiement to eat there, but most do.  Since substantially all eat there because of emergency possibility all can exclude the meals.

Handout 1 - 

· The wife cannot exclude anything from her income.  Husband cannot exclude lodging, because it was not a condition of his employment unless he can prove this.  It also is not for emergencies, and there is no showing that it is really for employer's convenience.  For meals, the meals he has while working may be excluded if he is on call during meal time, or if possible emergencies, or if lunch hour is just very short.  Possible to exclude meals if other employees get for noncompensatory reasons.

· Doesn't matter at all what the statute says this is not determinative.  She should be able to exclude because she is on-call for emergencies during.  It is on business' premises technically follow the highway patrol case.  She cannot get another meal and it is for emergencies, so should be excluded.  Not furnished by employer technically, however.  Also if for all employees, then may be for her as well.  Not technically a purchased meal, but more a free meal without charge, so it should be excluded.

· There was a valid business reason in that it would not be too much of a game show if cash waws the only prize.  Also, more beneficial for the business to use free things it received as prizes rather than things it paid for.  Could be considered a valid business reason to continue to receive these presents through the advertising, because game show may go under without the advertising benefits.  She should be taxed on value of the car however, it is not like the employment context because here it is an accession or a windfall and therefore not taxing her on the 28k she received for nothing is not fair if we tax the person who worked for a full year in order to earn the 28k.  She should be required to include the 28k with proper receipts, however, if she got use out of it beforehand then maybe taxed on full value as the FMV which could be sale price.
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I. Characteristics of Income

A. Example of deferred compensation

1. Purchasing power as different than "accession to wealth" is a better definition from Glenshaw Gloass

2. Economic Benefit doctrine

a) fully vested adn safe from payor's creditors.

3. Larger point is a difference between what is income and what is reducible to cash immediately.

B. Concept of basis - amount that a taxpayer has invested, measured in already taxed dollars.  

1. 2006 employer purchases policy for 10k, which we say is income of 10k, and in 2041 employee receives 50k.

a) note that tax code deals in nominal amounts, not in real amounts which would include present value discounting and the future inflation, etc.

b) in 2041, she is taxed on 40k.  the term for this is basis

2. tax her amount she receives, adn subtract her basis or the 10k she invested, and we get the gain or the income received.

C. Time value of money

1. extremely important.

2. simple formula (don't need to memorize this) Future Value = present value (1+r)^t, r=rate of return, t=time

3. ability to hang onto the 3k for 35 years is 85k in the year 2041.

4. In nominal amounts, her ultimate tax amount will be 15k, but this is nominal, so it is definitely better for her to hold onto it for this amount of time.

5. So, this is why when somethin is income is more important often then if it is income.

D. As a starting point, our definition of income will be accession to wealth.  

II. Employer-provided food and lodging

A. Some procedural notes

1. B.T.A. - Board of Tax Appeals, no longer exists under this name, but now known as the Tax Court.  Headquartered in D.C., but travel around the nation.  Functions as a district court, and you can appeal in that circuit where it is.

2. U.S. Court of Claims - another district level court, the appeasl go to the federal circuit court which usually hears patent cases, but hears tax appeals too.  Also you can go to the U.S. Dist. Court

3. The advantage to the Tax Court is that you don't have to pay first, but cfan refuse and then go to court, with the other two courts you have to pay first and then seek a refund from the government

4. Tax Court and the D. Cts will govern by rules where you are, but if you go to the us court of claims then you may get different rules, so slight encouragement to forum shopping.

5. acq. - stands for acquiescence meaning the IRS will not fight it any longer, means that the IRS will enforce the tax law consistent with this decision and not contest further afterwards.

B. Benglia v. Commissioner - living in the Royal HI and getting food and lodging from P's employer.  FMV of food and lodging given to couple is 7600, his cash salary is between 9 and 12k.  He does not report the 7600 in his income, and the IRS asserts a difficiency in his income because of this.  The quesiton is if they must include this amount as income.

1. various alternatives

a) Benaglia says it is no income

b) Subjective value to the Benaglias - difficult because susceptible to making it up.

c) Cost of alternatives arrangements if they had not lived at hotel, so the rent elsewhere and the groceries, etc.

d) FMV - easiest to come up with in order to evaluate.

e) Cost to the hotel of providing the meals and lodging.

f) Maybe the benefit to the wife.

2. The court decides that it is in fact no income for either party

a) Court says that Benaglia could not do his job if he did not live there, therefore it was necessary for the employer to do this, therefore it was for the convenience of the employer.

b) But, has the employee been made better off by this provision?  Should employer's motivation for providing this matter.

c) If compensation, the reason the employer gives is not important. 

d) The employer's motivation does affect at the value - it is an accession to wealth in some way, even though the value is disputed.

e) This thread runs throughout where employer gives something in kind to the employee, so the employee is likely valuing something much lower.

3. whether or how much?

C. Present treatment Section 119 - basically codifies the result in Benaglia

1. confirms that if meals and lodging are for the convenience of the employer and they are necessary for the job, then they are excludable.

2. In a way this expands from section 61 and says this is income, but if you comport with certain requirements then you can exclude it.

D. Handout 1

1. Suppose Benaglia is now under section 119.  Meals - furnished by employer to employee and dependants, furnished on the business premises, and for convenience of the employer.  These are the three basic requirements.

a) Convenience of employer defined in regulations as for a substantial non-compensatory reason.

b) So, the three requirements are met.

c) For lodging, there is an additional requirement that it be required as a condition of employment - which this seems to be met here.

d) Note that all of his dependants are included as well.

2. cop on duty, and meals are re-imbursed.  Essentially free meals - meets the for the convenience of the employer, business premises raises the question.  Circuit split about if the premises is the station house or the entire jurisdiction for the cops

a) Kowalski - USSC resolved on furnished by employer instead of premises.  So, furnished by restaurants, so it was flunked on that first qualification and they did not get any further than that.

b) Must be included under the precedent of Kowalski.

c) Possibly if paid in advance, the restaurant is a contractor, may count if the meals are delivered at the station may be okay.

d) Note issues with section 132(d)

e) Statute here is not determinative, but is relevant to some extent.

3. Free car given for game show prize adn Priscilla tried to sell, but decided to keep.

a) Here this was income as an accession to wealth.

b) FMV may be 28k that she could get, but this may not be accurate depending on how much she actually tried.  Unreasonable to include the sticker price of the dealer.  If car was worth more than 28k to her seen because she decided not to sell, so more her actual subjective evaluation of her accession to wealth.

c) Generally speaking we force inclusion at fair market value because it is the easiest to administer.

III. Frequent Flyer credits

A. Circumstances where employee works for employer and earns frequent flier credits as a result of business travel, and employer allows her to keep credit.

B. So, how do we treat these fringe benefits?  Should we treat it any differently if she earns it privately.
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I. Introduction

A. USSC handed down death with dignity in OR act decision.  Question was if attorney general had power to revoke licenses for administration of these drugs.

B. Reflects question of when should courts defer to the executive in their interpretation, much like the treasury code.  So, should executive be able to develop an interpretation of the statute.

C. Left off dealing with specifics surrounding income. - remember at base ask if there was an accession to wealth so that non-cash benefits should be included in income.

D. Questions to ask

1. Is there an accession to wealth - if yes, presumptively we have income (see § 61)

2. If there has been, realize that there are provisions that exclude certain items from income.  So, is the item excludable?  §119, §132, etc.

a) Ex. Meals furnished by employer, on their premises, for convenience of employer meaning noncompensatory reason.

b) For lodging it is all of the above plus a condition in taking the job.

c) Several ways to possibly to exclude, but it must fit in part of this in order to be excludeable.

II. Frequent flier credits

A. Example - you use personal money in order to fly for business, then the company allows you to keep the frequent flier miles earned for the trip and use for personal flights. 

B. Note difficulty in valuation, but in Benaglia the court noted that just because it is hard to value does not mean it is not income, but do need a way to calculate the value.  Price of ticket varies depending on many things, also miles not worth anything until combined because not redeemable.

C. Possible solutions

1. average price - grossly arbitrary 

2. tax when miles are redeemed possibly to be fair, this is not really fair in comparison to the rest of accessions to wealth, but the valuation problem makes this the best way to figure it out.

D. Earned as an employee

E. IRS's solution - at first IRS ignored, in 2002 IRS said they would not assert a deficiency in income claims due to frequent flier miles used for personal use.  So, they codified the existing practice, but note they never said that this was not income. But, if someone in fact cashes them out into cash, the valuation problem at that point disappears, the IRS then requires the employee to include them in income.  This is because administrative income goes away.

F. Earned on personal travel - earned on purely personal flights.  Think of it as if you are purchasing the flight and the frequent flier miles in the same purchase transaction.  If you join the program, then you are implicitly purchasing not just the airline ticket, but credits also that may be used in the future.  If this is the thinking, it is different as an employee, because you are not spending your own money beccause you are getting re-imbursed, and therefore you have not purchased the credits, instead the employer is re-imbursing you and you are getting additional compensation

III. Fringe Benefits under §132

A. Overview - came along in 1984, same type of situation as frequent flier credits.  Catchall provision allowing many fringe benefits, but imposing conditions. "fringe benefits" added to § 61 when §132 added.  So, now fringe benefits are presumptively income, then they are not included so long as specifically excluded in 132.


B. Problems on pp 55-56

1. First, fringe benefit, so it is presumptively income under §61, is it excluded.  These seats impose no additional cost, because they are on standby basis.  So long as on standby basis and imposes no additional cost(including foregone revenue), then excludable.  

a) F as employee covered.

b) F's spouse - valuation problem is real difficulty here, so despite the fact that the person is not an employee.  Congress answered who counts in 132(h) as an employee.  Does include parents and parents of spouses for purposes of this section.  Only explained by political forces.

c) What if airline owner owns hotel too, should employee have to include the hotel as income if on standby basis.  This is from §132(b)(1) - only applies to line of business in which the employee is working, so this would have to be included in income by the employee.  Line of business is determined by dept. of labor and their overarching categories of businesses.  Fine point question may be who the employer is....as to nature of relationship and commonality in locations or such.

2. not assigned

3. Income, but some discrimination provision to consider.  The discrimination section (j) only applies to no additional cost services and to employee discounts.  But, other than this it does not apply any more broadly.  Flunks under no additional cost because not in line of business, and under discount because max of 20%.   May have to include FMV of these services.  Reciprocal agreement will not qualify because it must fully work with the no additional cost thing and this does not necessarily work that way.

4. Excludeable because with the discount the employer's cost is still covered.  (c) Gross profit percentage of products percentage of the employer in the line of business of the employer.....so discount cannot exceed the markup value.  Offered to all employees so no discrimination problem under (j).  For goods this is the valuation, for services the set cap is 20% no matter what the markup is.  

5. Here the employees discount exceeds the markup of the products.  So, this does not fit under 132(c) because discount is too large.  Then, the taxpayer must include the difference in cost to employer and their cost for the product must be included.  So, must include value that exceeds the allowable discount.  Employer can include the value of all items in their line of business to consider what the markup is, but it can also have smaller categories, but not required to.

6. Subject to 132(j) because the employee is highly compensated and the employer is discriminating in favor of highly compensated employees, so the full discount amount must be included by employee.

a) What if employees get 10% discount, but officers get 20% discount, and we are within the gross profit percentage requirement.  Under (j) must be provided on substantially the same terms to all employees.  If it does not qualify under this, then it does not come under (a)(2) at all.  This means that the full discount for the highly compensated employees must be included.  This does not affect the ability of the employees to exclude their discount from income......this provision will only affect the highly compensated employees.

7. de minimis fringe - so long as it is truly occassional, the regulations actually specifically note this Reg. 1.132-6, basically enables the employee to work over time.  This helps catch the fall throughs from §119 that are not excludable meals.  §132(e)(1) is general definition of de minimis benefits - section(2) is a specific rule for treatment of low cost meals provided by employer run facilities, but (2) does not cover all meals.  There is a provision in (e)(2) for nondiscrimination for highly compensated employees, but here (e)(1) applies and (j) does not so no problem.

8. not assigned.

9. Qualifies under (f) - limits are $100/mnth for mass transit and $175 dollars per month for parking.  So this works for mass transit and parking.  

a) Doctrine of construction receipt - states that if taxpayer has choice between cash and something else, then we treat the taxpayer as having taken the cash, even if the taxpayer chooses to take the other thing, because it was within taxpayers power to get cash, and so it is really no different than if taxpayer had taken cash and purchased the parking themselves.  Applies within all tax law.

b) Remember that one reason we don't require all inclusion is back to valuation problem.  We do not have valuation problem if the taxpayer takes the monetary value, because it is a specific value the person can take.

c) 132 - provides an exception to the doctrine, saying that taxpayer does not have to include value of the privilege  under section (4).

10. 132(f) still allows exclusion, because (j) does not apply here, so even though discriminatry it does not matter.

11. Really only possibility is a working condition fringe (d) - must be an expense that if employee incurred would have been deductible under §162 (catch all deduction of the "ordinary and necessary" costs of doing business)  so costs incurred in generating income are deductible.  Just know general sense of this now.

a) If employer had not purchased, and employee incurred, then we ask if deductible under 162 as ordinary cost of bussiness.  So provision of this is excludable by employee.  The fact that she is doing this to network only then §162 - so might be allowed.  Congress came in to stop abuse and did not allow any deduction for membership in country clubs anymore, so it is not excludable by employee anymore.

b) Note difference between exclusion and deduction

(1) Exclusion:  keep out of income, never actually included in income, just totally excluded. Never included in income in the first place.  

(2) Deduction:  actual reduction or subtraction in taxable income to account for a cost incurred by the taxpayer.

IV. Other Fringe benefits

A. Life Insurance §79

B. Health Insurance §106

C. Dependant care assistance §129

D. Cafeteria plans §125
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I. Exclusions vs. Deductions

A. Where Individual has provided something of value and has not expended anything itself, is it something person must include in income or does it fall within exclusion provision as something that can be excluded

B. Deductions apply where individual has spent her own money, question is if we should make an adjustment in income, so reduce taxable income to account for her spending of certain money.

1. think about rent due to your workplace, because it is a necessary expense related to business, then worker entitled to deduct that value from taxable income.

C. Working condition fringe - exclusions are allowed if the person having spent the money would have been entitled to deduct it. So, if you cannot deduct, then you cannot exclude it.

II. Problem 12 - 132(j)(4) - on premises gyms and athletic facilities are excludable - conidtions are

A. On site location

B. Operated by employer

C. Substantial amount of use is by employees and spouses and dependants.   

D. Facts are slightly ambiguous as to if other people are using the place in question here.  

III. Other Fringe benefits

A. Life insurance (79) - included in income, but only to extent that it exceeds 50k worth of coverage.  So, basically excludable up to 50k per year, with no tax consequences.

B. Health insurance (106) - Similar to life insurance, but no cap on the coverage.  None of these health plans are included in income.  An accession to wealth, but really meant to encourage buying appropriate health insurance.  So, we end up with a lot more money spent on health care, than we normally would.

C. Dependant care (129) - allowed to exclude if employer provides, but the limit to exclude per family or married couple is 5k/year.  No quesiton of accession to wealth, but we are pursuing other policy concerns with this as well.

D. Cafeteria plans (125) - also known as flexible benefit plans.  Employers can set up plans where the employee has a choice of benefits it would like.  There would be a list of benefits the employer might provide.  Like:

1. dependant care

2. additional life insurance

3. un-reimbursed medical expenses

4. cash

5. we might do this because of fairness for the employees.  Employer did not want to give dependant care as an option to everyone, because then all would be taxable, because cash out possibility.  If you have set amount for compensation, then those not using the benefit would have unfairness.

6. by creating this exception to the doctrine of constructive receipt, we eliminate problem of employee envy by allowing the benefit choosers to not be taxed, but others can take taxable cash.

7. Rule regarding this that is interesting - use it or lose it - must allocate at beginning of year, and then if you don't use the value, then you lose it all.  

8. recently unreimbursed medical expenses was expanded to include over the counter medication.  

9. some may only be able to change by qualifying event such as a change in job, etc.  This is probably by regulation to keep the abuse of the system to a minimum.  Programs viewed as insurance.

IV. Windfalls

A. Glenshaw Glass -

1.  seminal as a case for definition of income.  Two cases consolidated here, Glenshaw Glass and William Goldman Theatres.  Both in litigation W. G. anti-trust, Glenshaw - sues manu. Of equip it uses in jars and bottles, claimed fraud and other things too.  Glenshaw settles for $800k, of which 324K is punitive, W. G. recovered $125k in compensatory, and tripled under anti-trust, so got $250k in punitives.  In both cases the parties included compensatory damages in income, but they did not include punitive damages.  The IRS then asserts deficiency in income, and so must ask if they were to report it.

2. types of damages - the difference in types gives Ps the claim to not include the punitive damages, like a windfall.

3. compensatory damages - meant as compensation, so directed at P, so asking what harm done to P

4. punitive damages - focus on punishment, and future deterrence in general, but these are both related to the defendent, and not related to the P really.  

5. Important preliminary step - both Ps included compensatory damages in income.  So compensatory would be to compensate the companies for lost profits, and if they had earned the profits those would have been taxable.  This is important to thinking about dmdages - if damages replace something that would have been taxable, then they are taxable - replacement principle, we ask in lieu of what were damages claimed.
6. For punitive damages - the court says they must be included in income as well
7. definition of income - important thing from the case - after it rejects the definition from Macomber - says income is derived from labor capitol or both combined  - undeniable accessions to wealth, clearly realized, adn over which the taxpayers have complete dominion. - generally our understanding of income under section 61 - 3 components

a) accessions to wealth

b) clearly realized - alludes to realization requirement, generally means that with respect to property, we do not have to include any amount in income until some event occurrs like a sale or transfer. 

c) Over which the taxpayer has complete dominion - alludes to problem of contingencies or controversies surrounding whether taxpayer is entitled to a certain amount.

d) This is all lasting and seminal point from Glenshaw

B. windfalls generally - punitives are income - these are generally accessions to wealth and so should be included in income.  Back to fairness idea and person who receives damages versus the person who works heard and earns this money.  

1. leads to potentially strategic behavior and how much to apportion for punitives and how much to ask for.  So, wording of settlements includes a fair amount of gaming between the two.

2. compensatory especially in personal injury - then they are excludable, so this is very important for P to treat as much as possible as compensatory.

V. gifts

A. two people to think about in these transaction - donor and recipient - so think of both to see how we treat for income tax purposes.

1. Think about example where A gives B $6k - 

a) could consider this as income for recipient, and let donor deduct the amount.

b) Income to recipient - what can we say about benefit donor derives both tangible and intangible - we have proof that the value to the donor of the gift, then they value it as much as using it for personal consumption. - really personal consumption choice, if this is the logic, then we could say that there should not be a deduction. 

c) Under the tax code - recipient does not have to claim it as income, but donor gets no deduction.  This is current law.  
B. alternative treatments - see above

C. justifying the current rule - possibly thinking that most gifts are within a family unit.  Practical consequences of deduction for donor and income to recipient - could be used to get around other tax consequences - evade progressivity, allows shifting of income from higher tax bracket to lower tax bracket.  The lower option is only option with no extra paper trail to keep track of.  Subjective valuation effects too.  Rejection of option 2 because we do not focus on intangible benefit, rather on material.  For the current rule, we tax the donor as surrogate by denying the donor deduction and this exactly cancels out the lack of income reported by the recipient.  

1. we create another administrative problem, because a gift in this scenario is treated differently from other transfers - note that if A were employer and B employee - then this would be income.

2. So, now administrative cost is that we must define what a gift is.

D. Duberstein and Stanton - Duberstein - Berman sent Duberstein a cadillac because he had given him referrals to other businesses, Stanton  - CEO of trinity church, and vestry sends him off with 20k gratuity on his retirement, which they claim is because they like him.

1. gift - needs to proceed from "detached and disinterested generosity"  these are magic words to invoke in these circumstances, donor must be acting in this way.  So, donor's intent is what matters, which is subjective. 

2. standard of review on the appeal is a clear error standard for factual determinations - purely factual question, not legal.  

E. Treatment of Duberstein & Stanton today - really appellate court does not want to address this question ever again.  

F. Section 274(b)
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I. Gifts

A. Stanton & Duberstein under current law

B. Sec. 274 (b)

C. Note that again the rule is recipient does not claim the gift as income, where donor does not get a deduction.

D. Test for gift is "detached and disinterested generosity"

E. Since Duberstein, Congress has enacted and possibly changed

F. Note under 274b, you can only deduct up to $25 for business related gifts

G. But, for 274 to apply, the transfer has to be a gift

H. Under 102(c) it is not a gift, because of employer-employee gift.

I. Can never, ever be a gift from an employer to an employee under 102(c).
J. So, for Stanton - not a gift because of relationship; deduction to church because they are paying compensation.  Note an employer paying its employees is an ordinary and necessary business expense.

K. Duberstein - not relationship in 102(c).  Because donor claimed a deduction, we could argue that if the donor's intent is the key, then this is evidence that this was not a gift.  So, if found to be a gift though and not a business expense, but does have a business connection of sorts then that person under 274 could deduct up to 274.  This is per person, and the recipient would not have to include it.
II. Other gift-like transfers

A. Tips & Gratuities - considered income - compensation for services.  Tension with Duberstein though.  Because an accession to wealth and in context of services performed for compensation.  

1. Plus employers have a withholding requirement, back to joint and severable liability for the taxes you will owe at the end.  This is basic tenet of the tax law.

B. Government Transfers - things like welfare, medicaid, medicare, food stamps, disaster relief, or social security

1. clearly accessions to wealth.  They are somewhat gifts too, really govt. under no Const. obligation to provide these things.  

2. Generally, not counted as gifts, but also not considered income either, not by a provision in the code, but by IRS fiat really.

3. Justification is that the programs are means-tested - or based on the means that the individual has.  Most of individuals who receive these don't have the income to pay taxes anyways.

4. The disaster relief is also a sort of compensation for loss.

5. A couple exceptions to this rule

a) Unemployment, sec. 85 - replaces income much like compensatory damages so makes sense.

b) Social security - 32k or less not included

(1) 32-40k gradual phase in for inclusion

(2) Over 44k - 85% of amount received as SS must be included in income.

III. Transfers of unrealized gains and losses - We are talking about where A gives to B property, then B sells the property for either a gain or loss, so now we must figure out what to do with respect to B

A. We already know what happens for A to B where it is a gift so it is not deductible and not included

B. Gains on disposition of property are income, and losses on the disposition of property are negative income, so presumptively give rise to a deduction.

C. The concept of basis - throughout the tax code, very important.  We must know this to understand gains or losses at all.  When we just have an inflow from disposition of property we don't know anything about income gain or loss.

1. Gain = amount realized minus adjusted basis

2. Amount realized = FMV of all stuff received ( cash at face value)

3. For basis we need to know amount that you purchased it for - a starting point.

4. Basis = amount of already taxed dollars that the taxpayer has invested in the property.

5. Loss = adjusted basis minus amount realized when the adjusted basis exceeds amount realized.

6. Basis starts at original cost, but when things happen to property that require adjustment, then you have to adjust it, so it is now adjusted basis.

7. Eventually refer to basis as the most current adjustment on the basis here.

8. Issue comes in where A purchases, then gives to B, then B sells, so now we have an intervening event.

a) Under 102a - we know A to B means a gift and A gets no deduction so that B does not have to include in income.

D. Taft v. Bowers - number 8 is question presented here.  A purchases stock for 1k, A gives stock to B when the FMV is 2k, B sells the stock for $5k.

1. Question in the case is what is B's basis:  could be the 2k or the 1k

2. Statute clear - Congress intended that the purchase price of A would be basis and then the sale price.  So, basis for B was carried over from A.  So, if a gift, B stands in the shoes of A.  

3. B says basis should be the FMV at time of transfer, the logic is this is the income that B actually experienced.  So, why should B be taxed on income that A realized while owning the stock.  So, the statute goes beyond the 16th Amendment and so not allowed.

4. Court sides with IRS saying basis carries over from A, this is at least for inter vivos transfers.  this general rule that is still completely valid

5. Minor exception to this general rule is that losses may be different.

6. Really administrative problem in calculating how much A would have to pay taxes on - So, really hard to value at the time of the transfer.  We automatically have a number to figure with whenever it is sold, so easier then.  Also, the donor has not liquidated anything in order to satisfy the tax liability at that time.  So, form of surrogate taxation.

E. Statutory Framework

1. 1001 - so says gain = amount realized minus adjusted basis, and loss = adjusted basis minus amount realized.  Amount realized = FMV of all stuff received in the transaction.  Presumptively any gain is recognized as income, and any loss is recognized as a deduction.

2. 1011 - So says we start with 1012, then go to adjusting ones

3. 1012 - starting point is cost of such property, don't worry about taxing exceptions listed.

4. 1015 - rule concerning gifts from Taft

a) basis for gain - general rule is substituted or carryover basis from the donor.

b) basis for loss - exception 

	
	gain
	loss

	FMV > donor's basis
	carry-over basis
	carry-over basis

	FMV< donor's basis
	carry-over basis
	FMV @time of the gift


c) Above FMV is at time of the gift or transfer to recipient.

d) Imagine A is in lower tax bracket, and has a stock protfolio - so loss for A will not reduce A's taxes by that much.  B is in a high tax bracket, but does not own much stock, so being able to use the loss as a deduction in income is of more value to B than to A.  So, the loss exception prevents this from happening, so prevents A from shifting loss to B in order for B to take the reduction.  Really A could sell it and keep the deduction so not unfair to taxpayer for he will still get deduction

5. 1014 - about gifts at death - basis of property is the FMV of the property at the decedent's death.  So stepped up or stepped down basis comes in here.  So the gain or loss during the decedent's life simply disappears from the tax base.  The rule expires Jan. 1, 2010, then we are set to change to modified carry-over basis rule, this is same moment the estate and gift tax will disappear.  These go hand in hand.  So, both are supposed to balance each other out.

a) Jan. 1, 2011 - we go back to where we were Jan. 1, 2001.  So, both of these we will come back to life at the same time.  

b) This assumes no amendment to the tax code since.

c) So, one year of absense.  

F. Handout 3

Tax 1-30-06

I. Basic rules of transfers of unrealized gains and losses

A. Inter vivos gift is governed by §1015, basis for recipient carried over from donor, unless FMV is less than donor's basis at the time of transfer, and we are computing for loss to report income of the donee.  Think of matrix and only one box there.  This prevents taxpayers from shifting losses over to lower bracket taxpayers.

B. Basis is FMV at decedent's death if it is a gift at death.  This is section §1014.

C. Handout 3 - remember when we ask these questions we are talking about what the people will have to include in income.

1. no consequences to the gift under 102 - where excluded for recipient and no deduction for the donor.  Daughter must claim $1500 - amount realized is $3,500, basis is $2,000, thus she has a 1500 gain, which is income.  No carryover again because given in cash not property.

2. Ella must include $500 because this is her gain, and daughter taxed on the $1500 once again as before.  

3. Basis of $1500 from the mother transfers over, this is governed by §1015.  So, she must include $2,000 in her income.  **notice again in these that when we look at the total amounts that must be included, they are the same, it is just a shift in who pays.  In this case, we are taxing daughter as a surrogate.  

4. Daughter must claim a $1,000 loss because of §1015, which applies to say that when the FMV at transfer is less than the basis at acquisition, you use the FMV at transfer as the basis to calculate loss.  Basis is FMV at transfer or 5k, and amount realized is 4k, therefore a 1k loss to include.

5. Amount realized 10k, so basis is 8k, because we are calculating a gain here.  Therefore, the basis is carryover, and the gain that daughter must include is 2k gain.  Remember only when computing for loss, then we use FMV.

6. Amount realized is 7k.  Loss transfer prevention rule is really what we have.  So, if we are calculating, we only worry about special rule if we are calculating loss and the FMV at the time of transfer is lower than the basis for the donor. If donor's basis is 8k, and FMV at transfer, then if donee sells for less than 5k, we can figure, if they sell for more than 8k, then we can figure.  The thing here is that if it falls in the middle, there is no tax consequence to either party.  So, we have this weird area in the middle with no gain and no loss and nothing on income.  Basis for computing loss is 5k, because she sells for 7k, she can't have a loss.  Basis for computing gain is 8k, but she sells for a loss there, and she can't have loss.  So, here there is unrealized loss, that is just gone.  

7. Son's amount realized is $8500.  Basis is 5k, because if FMV is higher at transfer than the donor's basis, we necessarily are using carryover basis, so 3500.

8. Amount realized is 2k, the basis is 5k, so loss of 3k.  One of the conditions for special is satisfied, but the other condition is not, so we calculate from the donor's basis.

9. Transfer at death so basis si FMV at death, so 15,000, amount realized is 20k, then the gain to include in income is 5k.  So we have a gain disappearing from the tax base, but with death transfers, we step up or step down, and then calculate from that and will likely lose a loss or a gain.

10. Bessie will have to claim a 3k gain for her income.  Transfering as compensation means that we treat the stock as if she had sold it and then paid the lawyer the cash.  So, transfer for compensation is a realization event.  Bessie's basis is 5k, realization is 8k, so gain of 3k.  Lawyer receives stock at 8k, so that is his basis, and sells it for 9500, and then his gain is 1500 which must be included in income.  Lawyer will also have to claim the 8k as part of his income, because it was in compensation.  

II. Gifts of divided interests in property

A. Before discussing transfers as fee absolutes.  Basically now, A can split the gift between B and C instead of just giving it to B.   Think of a bond where we might have right to interest payments and right to repayment of principal 

B. Relevant question:  allocation of basis between potential recipients, when interestsin property are given to more than one person.

C. Irwin v. Gavit - central case dealing with basis allocation.  Grandfather leaves income interest to taxpayer, A is grandfather who created a testamentary trust at his death.  Income interest is to last for the life of Palmer, or until Marsha his granddaughter turns 21.  At 21, Marcia will receive principal or corpus of the trust.

1. Aggregate basis is the FMV at the death of A as per 1014, so we now need to know how to allocate the basis otherwise.  

2. Taxpayer's argument - He says this was a gift, and therefore it should be excluded from his income, which seems to make sense based on 102(a) and the gift exclusion.  

3. Practical consequences - implications of permitting Palmer to exclude value of this gifts.  What if A had given Marcia all at death - it would be taxable if there was a gain, but Palmer's way would encourage a split for tax purposes only and then you would immunize the interest from taxation.  

4. holding - went with policy reasons here.  The USSC did not want to create this incentive.  The entire basis is allocated to the donee of the corpus, so that she is not taxed on it at all.  So, Palmer or the interest donee gets no basis, so his gain to include in income is the full interest each year.  

5. Rule is that in any circumstance like this where the rule gets split from the principal, then the entire basis goes to the principal.  The interest earner gets nothing.

a) Imagine interest rate of 8%, and trust pays income for nine years, starting value of trust is 100k.

b) So, person with income interest will receive 8k each year for nine years, so nominal value is 72k

c) Present value of the income interest is 50k, because discount rate is 8% same as above.  

d) So, right to receive principal in nine years of 100k, has a present value of 50k.  

e) This is discounting to present value. 

f) So possible that the two interests at the time of present was about the same.

D. underlying economic realities - the two interests are about the same, but the rule is designed to make administration easier by just allocating full amount, take out contingencies and calculations to just make it simple.

E. justifications for present rule - simplicity and avoidance of calculations like the above.  102(b) codifies this.  Income from property is included in income despite the gift not being included.

1. 273 - what happens to the values of 50k each as the time towards the payout.  At payout the income interest is zero and the principal payout is 100k.  So from initial to payout the interest value goes down, and the value of the principal goes up but always equals 100k.  50k as it declines for the interest income would maybe want to make someone to deduct it, but they don't allow this under 273 again because no basis.

F. Handout 4

1. Total basis to begin is 10k because it is original cost under 1012.  Total dividends are 6400, and none of the basis goes with this, so it is all income as she receives it.  Amount realized on the sale of the stock is 13k, but we must apportion the basis.  Basis per share is 50, and she sells 150 shares, so multiply the 150 sold by the basis for each which gets us to the 7500 basis in the 150 shares sold.  So, result is that she gained 5500 on the 150 sold after taking the basis out of the amount realized both being apportioned as such.

2. Basis if given at death is FMV at death so the 10k, then the rest of the answer would be exactly the same.  Purchasing and death gave her the same basis, so that the rest stays the same too.  If this had been an inter vivos gift, then the carryover basis would be 4k, then her basis per share is 20, and amount relaized is the same so she would be taxed on the gain of 10k for the sale and the interest income results would be the exact same. 

III. Capital gains
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I. Gifts of divided intersts in property Handout 4

A. Number 3 - 

1. Son must include 300 per year in his income, total of $3k in total.  Dividends different than interest, but both are income that is being generated from the underlying property.  No basis goes with income interest, all of the basis goes to who gets underlying property.

2. Grandaughter - because inherited, we use the basis at the decedent's death.  Total of $11,000, then she realized $15,000, so the gain is 4,000 adn she must include this in income.

B. Number 4 - 

1. Son must include 2,000 dollars in his income declaration.  His basis is zero, so the 2k is totally included.

2. Jimmy has a basis of 2k, and amount realized is 3k, so the gain is 1k.  Note this demonstrates that the rule giving the son 0 basis has no impact on the fact that it can be sold and that person will get basis they pay for it, then take this out of amount realized total.

II. Capital gains - just getting a bassic understanding.  

A. Definition - gain on the sale or exchange of a capital asset.  The issue becomes how we define the term capital asset.

1. for purposes of our class capital asset is defined as "all property other than property held for sale in the ordinary course of business"  Might know this as inventory.

2. this is an over-simplification, but is generally correct, but only certain times will it not hold up as a definition.  

3. So inventory is not a capital asset.

4. Note income or compensation for services or working is not a capital gain.  Dividends or interest, or income generated by the property itself are not capital gains either.  It is really gain or loss on the disposition of property.

B. Relevance - often here captial gains tax, but this is a misnomer and not accurate, basically no distinct tax because it is just income so taxed with everything else.  We need definition because capital gains are taxed at lower rates than other income, so they receive preferential tax treatment.

1. More specifically long-term capital gain:  treated really well, gain on sale of capital asset held for at least one year.  This is taxed at a preferential rate.

2. Highest marginal tax rate for ordinary income is 35%.

3. Highest for long term capital gain is 20%.  Almost half of the ordinary income tax.

4. Additional preference for 5-year property, where the maximum rate on the disposition on this property is 18%.

5. degree of preference is the reason we care, and it matters on the loss side, because there is a disadvantage for capital losses relative to ordinary losses.

6. Ordinary losses are deductible in full in the year sustained

7. Capital losses are only deductible to the extent of capital gains in the same year plus 3k.  It is really on off-setting rule or basketing rule.  

8. All losses under the capital loss rule that are not deductible are carried forward.  So the remainder of loss can be deducted in the subsequent year.  Carries forward indefinitely until death or until fully deducted.

C. Policy questions - Debate really only about the extent to which if at all we should prefer capital gain over other types of income in the taxation rate.  

1. Traditionally criticized because of vertical equity - why should we prefer this rich person gain to the regular income gain.  So, we are skewing the preference to those who are most affluent

2. Support for this - in a sense you can think of this as money already taxed.  So, money generated from this already taxed money is really fruit of already taxed money so that we should tax later.  We might really be taxing the increasing value of money and not interest or such.  Argues that there should be no tax on this money.

3. One policy argument too is to spur investment, we want to encourage people to invest money more.

III. The recovery of capital

A. Basic issue - ability to recover basis, when we say recovery of capital, we are referring to idea that the taxpayer is recovering his or her basis in an investment.  So, allowing subtracting out basis is really a way to acknowledge recovery of capital.

B. Inaja - this is at the very edge of the envelope for these cases.  

1. Inaja has parcel of land in CA, and the Owens river flows through the center of his parcel, using land as a trout fishing farm.

2. LA purchases rights to a lot of water, and diverts water through an aqueduct over this man's land.  It becomes contaminated as well.  

3. Inaja threatens legal action which leads to a settlement, so now he will not bring any more actions for 50k, he spends 1k in costs.  He has a net recovery of 49k.

4. Question is what do we do with the net recovery in this case.  Original cost of land was 61k, so now how do we handle this from a tax perspective.

5. competing arguments

a) IRS  wants entire recovery to be treated as income.  Said character of recovery was compensation for lost profits

b) Inaja argues that this is damages for damage to property, and the easement of permitting the water-flow in this case.

6. Why does it matter how we characterize the property

a) Could be a sale of a portion of the property itself, definitely not the sale of all the property.  So, this is Inaja's argument

b) If compensation for lost profits - then all is income and all included on taxes.

7. If payment in lieu of profits you would have earned it is all income under replacement rule from prior

8. If we agree with Inaja, then we need to know how much it was worth at the time of purchase.  So, we need to know how much basis to allocate to the portion that was sold.  So, this is where the two distinct questiosn come from.

9. two distinct questions - addressed in this case.  

a) under what circumstances is a taxpayer permitted to recover capital?  What sort of  a payment triggers permission for the taxpayer to recover the capital.

(1) Court says that this is for damages to property and easment so sale of a portion of the property.

(2) Since IRS loses, they say still must allocate basis in some way to calculate.

b) What to do when taxpayer disposes of only a portion of the asset instead of the full asset?  Think about allocating basis where say only half of the shares of stock are sold.  

(1) Court said impossible to determine the basis because of fluctuating size.

(2) Court says no income included from the settlement, so that this was basis amount recovered.  Therefore the 49k will come off of the basis, then when he sells the entire plot, we calculate the basis with this factored in to subtract out and tax on gain.

10. holding - all of this is recovery of capital, which is enormously deferential to the taxpayer.  Deferring taxation until sold.

11. If recovery exceeded basis, then he must include the value exceding basis.  So that he is only entitled to subtract from basis until 0, then all is gain.

C. Reg 161-6(a) - discusses apportioning basis and then calculate gain or loss accordingly.  Inaja is the odd case where the court said this apportionment was impossible and so we must then apportion.  

D. what is at stake - timing and adjustments to basis

1. all of these resolve into questions purely of timing really.

2. what happens after this case is over?

3. What if Inaja came out the same way, and later he sells the property for 70k.

a) He includes 0 in income for the year the case happens.  It is excluded because it is viewed as recovery of basis.

b) Remember basis is the measure of the investment the taxpayer has put into the capital asset.  We now subtract the settlement payment from the basis, so we get 12k as the new basis.( this is adjusting the basis, so we end up with the adjusted basis.)  Then we take amount realized and subtract the new basis, and get 58k that he must include in his income. 

c) So total included is 0 at recovery and 58k in the year he sells the property.

4. What if Inaja had lost?

a) In the year of the recovery Inaja would have to include 49k as his income.  In addition, he has recovered none of his basis so it remains 61k.

b) In the year he sells the property then, then we take amount realized  70k and subtract the basis of 61k, so that he must include 9k in his income as a gain.

c) Therefore the inclusion at the settlement is 49k, and later when he sells the property he must include 9k.  So, total included is 58k.

5. So, the answer is totally the same, and again it is really an issue of timing.  So, ultimately he will include same amount, the question is just when you must include it.  

6. But, you must consider that if it is replacing income the 49k will be taxed at a higher marginal rate, but if it is 58k capital gain then he is taxed at the preferential capital gain tax.

E. Inaja is still present law, but it only applies in extreme circumstances so generally never applies.  It is an extreme case.

IV. annuities
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All of this today is still ways of looking at recovery of capital.

I. Inaja - original basis = 61k, his hypothetical he sells the land for $70k, so in 1939 had received the 49k in lost compensation.

A. Inaja wins - 

1. 1939 - no income because all of it is recovery of capital, which means that he must adjust his basis by the same amount.  So, we reduce his basis to 12k, 

2. 1950  - he sells amount realized 70k, adjusted basis is 12k, so he must include 58k in income

B. Inaja loses - 

1. 1939 - all of it was income because it replaced lost profits.  If in lieu of something included in income, then it is all income.  So, if all income, no recovery of capital, then we do not make any adjustment to basis.

2. 1950 - amount relized 70k, original basis is 61k, so amount to include in income is 9k.

3. So, note that if we look at total he will include in income under both scenariors is 58k.  This is because he made 9k profit, and had a payment of 49k, so we include it in both places it is just a matter of timing.

4. The only thing that could change would be if he dies before sale.  If he passes at death, then the gain may be gone entirely from the tax base.  This is because the FMV is now the basis.  

5. One note that is important is that if he lost then 49k would be oridinary income, the 9k is capital gain.  If he wins, then 58k is all capital gain.  This will affect his tax rate, because capital gain is treated more favorably than ordinary income.

II. Annuities

A. Timing for recovery of basis - really only issue because we know that it must be included at some point.  

1. Say person buys 2 year annuity on 12/31/06, cost is $200, r=10%, we have 2 equal payments over the next two years.

a) Payments will be $115.24 per year.  One in 2007, and one in 2008.

b) Note ultimately the tax-payer will have to include $30.48.  

2. Inaja - what if we adopt this rule?

a) What income should you include?  $0 in 2007, then $84.76 is new basis, then the inclusion of income in 2008 is $30.86.

3. Economic reality - now what if we follow this rule?

a) We treat this as a loan instead.  So, the rate on the loan is 10%.

b) So, we look as if we loaned $200 in the first year.  So, now we include $20 or the 10%.  The $115.24 is a repayment of capital, so payment is blend of interest and principal, so insurance company owes you $20 in interest in the first year.

c) So, for 2008, we know the total included must be $30.48, therefore we can subtract the $20.00 already included.  So, we now include $10.48.

d) This reflects that the loan has been paid more in the first year, then the second payment reflects more principal so it makes sense to pay less.

e) This reflects reality that will make sense.  

4. §72 - Neither of the two above rules reflects what the tax code says.

a) So, we have an exclusion ratio - Amount of purchase over the total repayment value

(1) 200/230.48

(2) This means we have pro-rata recovery of basis .  So, you recover basis in equal amounts for each payment.

b) 2007 - So, ration is around 87%, then we multiply the percent by amount received each year, so $100 which she can exclude, then she must include the rest as income so include $15.24.  2008 is the same.  Note that she must exclude the same amount each year, so she must include the same amount each year as interest.

c) Note again the result is same amount of money included, but just a quesiton of timing for it all.

5. Inaja - best thing for taxpayer, § 72 is the next best thing, because some of the interest is deferred to being recogtnized later.  Because of time value of money this can be valuable.

B. Tax preference

1. see number 5 for the first tax preference for §72 - favorable because defer some inclusion of income.

2. Also favorable because the inclusion starts on the first year of payments you receive.  Thus, you get deferral between purchase time and the time you start to receive payment.

3. These benefits are solely because it is a qualified immunity and no other reason.

4. Problem is this leads to more purchasing of these annuities, so that means the costs go up, so we start getting more economic waste.

C. Handout 5

1. Exclusion ratio is 80%, because of 80k cost/100k expected payment.  So, we take 80% times 20k which is the income total and equals 16k recovery of basis, then 4k income must be included.

2. Exact same transaction, the only difference is it is a loan to a friend instead of a qualified annuity.

a) Now loan is 80k principal, rate is 8%, so $6,400 in income must be included.

3. So, this is the preference for the annuities, because of the lower inclusion as required by that.

a) Same amount included in income by the end of the repayment period.

b) So, valuable to get the annuity and delay payment because it is more valuable due to the time value of money.

4. Initial payment is 65k, and in exchange he gets 20k per year for life.  He has a life expectancy of four years.  He outlives life expectancy.  How much of 20k payment must he include in income.  Exclusion ratio 65k/80k.  The 80k is expected payout using the actuarial tables for the life expectance.  First 4 years will be the ration times the payment for what is excluded.  By the end of year 4 all basis will have been recovered.  So, this 20k minus the adjusted basis of 0 will mean he must include the full amount.

a) 72(b)(2) - if all the money invested.has been recovered, then pament is all income.

5. Original cost is 50k, receives nothing for 10, then 20k per year for life, life expectancy for 5 years.

a) Exclusion ration is 50k/100k.  The 100k payout is 20k times 5 year expectancy.  So, take 50% times 20k so 10k excluded, and 10k must be included.

b) Here he has received three of the payments - total he has been allowed to exclude 10k/yr, so total recovery of basis is 30k.  Total basis is 50k, so unrecovered basis is 20k.  The last return he can deduct the 20k unrecovered basis on his last return.  This is because he did not recover his entire basis, so balance not recovered is put into a deduction.  72(b)(3).  

6. problem names are from the black panthers from oakland.

D. Always remember if you have income and deductions then you should compute these separately, to assure that we do correctly because we are not positive these will net out to the correct figure.  

III. Gambling - another example of recovery of basis, but interesting because it is a counter-example of the normal rule.

A. If we think of it as an investment, there is an assymetrical treatment of gains and losses.

B. On gains side, it is all income 

C. On loss side, it is only deductible to the extent of gambling gains in the same year.  No carryover at all.  So, if the loss is not able to be deducted, then it can never be deducted.  So, the basis lost in excess of gain, then it can never be recovered.  

D. Why do we treat this different than other investments?  

1. cash only hard to keep track of - govt. cannot monitor.

2. small amount of gains reported, but if losses were fully deductible than more vigorous reporting of losses than gains.

3. Also, this may be viewed as a form of consumption rather than an investment.

E. Generally the basis has to be considered and recovered, but the gambling gains and losses just don't follow this rule.

IV. Recovery 

A. Clark v. Commissioner

1. § 165 - losses are presumptively deductible, but there are a number of exceptions

a) Gambling

b) Loss of capital.

2. Here, we are looking at recovery of capital or recovery of basis still.

3. Facts - couple files joint tax return on advice of tax counsel.  At this tiem, there were consequences in filing separate returns instead of joint, now the results of filing this way are about the same.

a) They file return, the IRS asserts deficiency of 32k, the Clarks pay this amount.  They discuss this with accountant, who discovers that 19,941.14 of the deficiency was due to negligent advice of the accountant to file jointly.

b) Accountant pays them this difference due to his negligence. 

c) Then, the couple does not report this in income the year they receive this payment.

d) IRS says they must include the payment from the accountant in income as well.

4. Old Colony - IRS argues this case stands for proposition that when third party pays taxes for someone, then that payment must be included in income.

a) Facts - taxpayer earns salary of 1 million, and employer pays the taxes for employee in addition to this income.  

b) This tax is paid on behalf of the taxpayer.

c) Court said taxpayer had an income of 1.4 million.  This is viewed as compensation for the employee still from the employer.  Note any different than employer payment to landlord or anything like that, so it is income too and must be included.

d) Still true that 400k has been paid over to the government.

e) So, total income times tax rate, gives total tax liability is 560k, then minus 400k paid, so taxpayer must still pay 160k.

f) So, IRS says this is exact same case.

5. This is different here too, because there is no third party payment to the IRS.  In old colony transfer from employer to employee, so compensation is what we call this.  Court says here this is not compensation.

6. Nature of payment - Court says this is really a payment to recover for loss.  So, we must ask what this payment replaces as central question

a) So, in lieu of what is the payment made.

b) If it replaces something that would have to be reported in income, then it must be included in income.

7. IF nothing had gone wrong here, then that 19....k would have been theirs tax free.  So, payment replaces amount that itself should not have been taxable, so recovery should not be taxable either.  

B. Questions pp 124-25
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I. Recovery of Loss

A. Clark v. Commissioner

1. different from old colony, because in clark the payment is recovery os loss, where old colony was a form of compensation.

2. The money in Clark is making the Clarks whole.

3. The money is replacing a sum, which the Clarks absent the negligence should have been able to enjoy tax-free.

4. If money is replacing something non-taxable then it should not be taxable either.  So, the recovery stands in the shoes of what was already claimed and is non-taxable.

5. So, this is different from Old Colony because there it was really extra compensation.

B. Problems on pp 124-25

1. The money is not excludable because it is income and he received it.  Remember an exclusion is something that never becomes income, here he received the money as compensation, so no basis for excluding this.  

a) He may be able to deduct the loss 

b) Losses are presumptively deductible §165

c) (c)(3) - casualty provision - here not as sudden and intervention of some force of nature, but you could argue that there was theft here.

2. In order to amend your report, there has to be a mistake at the time of reporting.  Here no error when he filed his 2000 return, instead we have a subsequent event that rendered the return wrong.  Instead of this we include $300 in the subsequent year.  We include the amount of the prior and now unwarranted deduction.  Prior deduction was not wrong just unwarranted looking back.

a) Tax benefit doctrine is the principal for (b)

b) a do not amend return

c) b yes he must include

3. If treated it as income in 2000 he paid taxes on it, so no reason to include the amount now.  Same as Clark - replacement doctrine, this replaces an item that he should have enjoyed tax free and so should not have to claim now.

4. He must report this as income in that year as an accession to wealth.  Not a recovery of loss anymore because it is not his, it is a windfall.

5. If he failed to take the deduction even though he was entitled to it, then it is his own fault.  He can amend his return for 2000 to include loss and then include the 300 in income.  Statute of limitations is 3 years to amend your return.

a) Now he must include 300 in income, he lost chance to claim the loss before, this is because the statute of limitations has run.

II. Recoveries for business and personal injuries

A. Keep in mind two distinct steps

1. §61 question - general definition of income (Raytheon), so must ask if the recovery is income within the meaning of the code, this is what replacement principle addresses

2. § 104 question - adds onto the question, says even where recover is income under §61 it is in certain circumstances excludable.    Only get to this if this is income under 61, if not income then it the inquiry ends after the first question and we do not get to that.

B. Raytheon Prod. Corp. v. Commissioner - manu of rectifying tubes, used to make radio sets.

1. Had a huge business in this, then RCA has patent for most popular sets in the country, so it requires all who manu radio sets to be licensee of RCA.

2. In 1927 - RCA includes in its licenses, which requires that you buy your rectifying tubes from RCA too.  So, monopoly in this market of radio sets, and then leveraging that to get market dominance in the other market.

3. So, because of clause 9, Raytheon is no longer making any money on the tubes, the only business left is selling replacement tubes

4. Raytheon then goes to RCA and becomes licensee of RCA, part of this agreement is to not prosecute any anti-trust claims against RCA, but if RCA pays a settlement for this to anyone else, Raytheon can sue for that.

5. Settlement for 410k, part of settlement is that Raytheon gives RCA patents that are worth about 60k (not in dispute).  The remaining 350k in dispute

6. Raytheon does not report 350k as income, IRS says it is, so this case.  

7. Raytheon says that this was really a realization of a chose in action, so really arguing that there was no accession to wealth.  Says made whole, not better off.

8. Court starts with idea that if the recovery is for lost profits, then it is income.  Replacement principle.  

9. Question is "In lieu of what were the damages awarded?"

a) If the amount replaced would be taxable, then the recovery is taxable as well.

10. Not all recoveries in anti-trust are income - If injury to good will, then it is a recovery of capital, so not taxed.  

11. Good will is customer base, name recognition, reputation.  Difference between value of physical assets and the overall FMV of the business.

12. So, part of recovery that is for good will is recovery of capital, which is another way of saying recovery of basis.

a) So, what is amount realized, what is the basis, then if amount realized exceeded the basis, then we say that is gain, so it is income.

b) Like an involuntary sale of part of the business so treat as such.

c) Amount realized is 350k, and the gain is also 350k.  

d) The problem the court sees is that Raytheon has zero basis, so original good will started from 0, and things like advertising expenses may be generating good will, but they can be deducted immediately, so may not be able to recover any basis.

e) We only create basis where there is not immediate  deduction.

f) No initial investment in good will, every expenditure we had in creating good will is deductible so not basis.  Instead good will is a by-product of the company operating.

13. nature of recover - see above

14. tax consequences - see above

15. self-generated good will is totally different than if company B is buying company A and then they are also paying some of purchase price for the good will.

16. no difference between damage recovery situation and a sale, it is simply an involuntary sale and treated as such.

17. disaggregating recoveries - how did the court decide what the damage to good will was?

a) Look at profits company made before and after RCA acted, slippery concept.  So, slippery because lost profits are income, lost good will is not, but you need to use lost profits to show lost good will.

C. section 104

1. all we are talking about so far is if this is income - so asking what is character of what it is replacing.

2. If income under 61, then is it excluded under 104(a).

3. if damage recover is on account of personal physical injuries or physical sickness, then it is excluded under 104(a)(2) even if it would constitute income under §61.

D. other recoveries for personal injury

E. Handout 7

1. Gale - 100k phys excluded, 60k for med. Expense excluded, 750k punitive must be included as income.  Alphonso - statute does not say that the person recovering must be the one who suffered personal phsyical injury.  So, Alphonso can exclude loss of consortium under the "on account of physical injury" so that means it is excluded.  Alphonso's emotional trauma shall not be counted as physical injury, but here this is a result of Gale's phyisical injury, so the triggering event is physical injury, which means it is excluded.  Sort of the rule that if you have a personal physical injury then you have the hook to catch all damages furthering from.  Psych. Bills are medical expenses and thus are excluded as well.  So if paid for medical care for emotional trauma, then it is excluded.  So psychiatric care is medical care and thus medical expenses.
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I. Recoveries for business and personal injuries

A. Handout 7

1. Problem 2 - 75 original cost, total price 100k, 25k for land.  FMV of house 250k, recovery 225k 

a) Amount realized 225k, basis 75k, so 150k gain

b) Really a moment at which we are counting for the overall gain since he purchased the FMV not relevant to taxes.  

c) This is rule despite it looking like a loss.

d) Remember this is not as complicated because it is a complete loss, and not partial which would complicate.

2. problem 3 - recovery 300k

a) not on account of personal physical injury or sickness, so ED does not work here.  Language in 104a - ED is not physical injury or physical sickness.  ED here has manifested itself in physical symptoms, but the recovery is not on account of that.  This is how all courts have handled this.  Remember two steps to the inquiry:

(1) does this fit within general def. of income?  Sort of compensation, here though.  If this is replacing normal mental health that is not taxable, then really should we force inclusion under replacement principal

(2) Courts have universally said if it does not fit within 104a, then it is included.....this is a strong negative inference.  But, if not under 61, then should we even get to the 104a question

b) If she physically touches him, it is still the same, b/c recovery is still for ED

c) Punitive would have to be included, compensatory would likely be excluded in saying that it was ED as a result of physical injury of some kind.  May be quesitons as far as temporal connections, but not nec.  Remember if physical injury than all recovered on account of that is excluded under 104a.

B. Other recoveries

1. 105a andb

2. 105b means that all recoveries through a health insurance plan, or self-insured plan by employer, are excludable as income, with exception of amounts that have already been deducted.

3. if you have injury and deduct, then if you get recovery, excludable except for the amount deducted.

4. 105c - permits exclusion of amounts under disability so long as focus on the nature of the injury and not the time the person is absent from work.

a) This is because it replaces salaries so should not be excludable.

b) Note that 104a recoveries even if compensating for lost wages is excludable.

II. Income from the discharge of indebtedness

A. Basic idea - weird because person must include in income the moment they make an appointment.  Where taxpayer pays out less than she took in a loan, then she must include the difference in income.

1. loan proceeds are not income, which is a basic tax principle in code.

2. means taxpayer borrowing money does not have to include that in income, does not matter if recourse loan(borrower personally liable) or nonrecourse loan(property as security is only thing the lender can go after).

3. law recognizes because every loan comes with an equal liability.  So, not an accession to wealth, net zero.

4. Also, no deduction for repayment of loans.

5. So, no inclusion at front end, and no deduction at the back end.

B. Kirby lumber

1. corporate bonds - taxpayer issued bonds worth 12 mill. In 1923, later that year, repurchases some of these.  It spends 862k to get bonds with a face value of 1 mill.

a) Bond is a loan to a corporation from investors. These bonds pay a certain interest as well.

b) So satisfies 1 mill of debt by paying 862k to bond holders.

2. Why can company purchase these back at lower price?

a) Change in prevailing interest rate in the economy.

b) Risk of default has increased.

3. fluctuations in value of debt.

4. holding - Court says that the difference between debt and amount paid out is income from discharge of indebtedness

5. Kirby must include the difference in value between money borrowed and the money paid back.

a) Makes sense because original loan was not included because later required repayment.  So assumption that he would have to repay debt in full.

b) So assumption incorrect and we now correct for it.

6. be clear that it does not make a difference what Kirby did with the money.  Use of the money and any results thereof are separate from the loan transaction itself.

7. so no longer conflate the two, keep separate and then deal with each transaction separately.

C. zarin v. commissioner

1. severe illegal debt, and he cannot pay, he owed 3.4 million, and they settled for 500k to discharge the debt.

2. IRS says 2.9 mill of debt was discharged, so this is income from debt and he must include this.  Tax Court agrees with this.  Now with interest, he owes 6 mill to IRS

3. no discharge of debt - 3rd Circuit says this, says that there was no debt ever, relies on 108d1 as the definition of debt and the IRS would have to show one of these two apply

a) recourse debt - taxpayer liable

b) nonrecourse debt - taxpayer has property subject to debt.

c) Need one of these to make qualify as debt and thus include difference.

4. Reasons not a debt

a) Unenforceable debt under state law.  So Z not personally liable.

b) Chips are not property. - this is only property, but chips were only evidence of indebtedness, or an accounting mechanism.

5. contested liability doctrine - governing law according to 3rd circuit

a) where debt value not fixed, and since contested, then we go with the settlement value as the true value of the debt.

b) So true value of debt is below of chip value extended.  Largely because illegal to give credit, so may be no value.

c) This is broad principle that if parties agree to arrangement, then subsequent dispute, then settled, we treat settlement as satisfaction of the liability.  

d) So amount of bona-fide debt is 5k, so fully satisfied.

e) Now if he ends up paying less and they agree to this, then he would have to include that in income.

f) Difficult for majority is that this is not usually applied where we do not have actual number.  When we have a firm value, this is a liquidated amount.  So unliquidated is usually only place we use this doctrine.

g) Majority says unenforceable debt so total may be not enforceable, so this means value also in dispute.  Underlying legality issue.

6. purchase - money debt - 108e5 reference in the dissent, this is exception to discharge of indebtedness.

a) Purchase price adjustment reference.

b) If purchaser's debt to seller of property, and subsequent adjustment of amount owed, then we treat the adjustment as change in original sales price, rather than a discharge in indebtedness.

c) How does this apply to Z?  seller of services, resorts, and they go back and say just pay me 500k, so why not apply here?  Because this rule only applies to property and not services, and since chips are not property, then he did not purchase property.  

7. insolvency relief

a) 108a1 - basic provision?

b) Possibly not included because bankruptcy or insolvency, likely no bankruptcy here, but might have been insolvent

c) Insolvency defined as net worth of taxpayer is less than 0.

(1) Liabilities exceed assets

d) Insolvency does not apply here, because Z waived the argument in the original case, but only raised in re-argument.

e) Z's argument is better for him here though than 108a

(1) Amount excludable for that forces reduction of other things like bases.

(2) So the rules are designed to eventually require the amount included, this inclusion starts as taxpayer becomes more and more solvent.  

III. Diedrich v. Commissioner

A. Sort of application of same principle, or continuation in different context.  Transfer where donor conditions gifts on the payment of gift tax donor owes.  So, parents here give stock to children and children agree to pay the gift tax.

1. gift tax liability 62,992, parents basis is 51,073

2. note especially liability for gift tax falls on the donor.

3. So, children paying gift tax is a transfer of money to the parents.

4. The liability could be anything.  Any liability would apply the same rule, so irrelevant that liability paid is tax liability.

5. Think of gift tax as any liability the parents owed that children agreed to pay.

B. Court treats this as a bargain sale of all the shares, at a below market price.  Another way under 1001b - treat sale of some shares at FMV, and then a gift of the rest, so apportionment.  Different results of this, so important how characterized.

C. IRS's argument - 

D. Gifts?

E. Holding

F. Alternative:  partial sale@ FMV
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I. Diedrich v. Commissioner

A. Essential facts - transfer of stock, gift tax due 62, 992, basis for parents is $51, 073.  gift from parents to children.

1. could be any liability, but exact same tax treatment would apply.

B. IRS's position - argues that the gift tax should be included in the amount realized.  So, they want basic subtraction as 11, 919k gain.  So, straightforward that this is like a sale.

C. Children say no obligation on them to pay gift tax, but rather just did it out of kindness.  So, they want the gift tax paid by the children as a gift, so if a gift then no gain at all.

D. ***tuition money is not deductible, because considered personal consumption.  So buying the education.  

E. Gifts?not a straight gift, rather a sale way below market value, this is because all one transaction, and you really cannot separate out the pieces.

F. Holding (and troublesome logic) - gain to parents that IRS argued for.  This is the law for all bargain sales, sales below market value, other than those in 1011.

II. Joondeph says this way of handling the problem does not make a lot of sense.

A. What if gift tax was  41, 073 - then parents have a loss, but if you think about this logically, you see that there really has been no loss in reality.

B. Regulation 1001-1(e) - says that you cannot take a loss deduction in these cases.    Part sale, part gift or bargain sale entails Diedrich.  So, logic of Diedrich does not follow through to the loss side, we just say no tax consequences.  

C. What causes this logic that does not work - Diedrich conceives of transaction as a sale that is below market value and the sale is of the entire group of stocks.

D. Alternative - diff. way to view this.

1. sale of portion at FMV

2. straight gift of remainder

3. think of numbers as 100k shares transferred from parents to kids, parent's basis is 50k, liability satisfied by the children is 60k.  FMV at transfer is 300k.  parent's basis is 50 cents per share, the FMV is $3/share.  Children sell when they get them for 300k.

4. So, what if they sold the shares to the children up to amount to pay for gift tax - need to generate 60k, now value is $3/share.  So, sell 20k shares to kids, amount realized = 60k.  Their basis in 20k of the stock is 10k.  So, then they must claim a gain of 50k on this sale.  

5. So, treat that 20k of shares as sold, then treat the remainder as a straight gift.  So, different than Diedrich because we are apportioning the basis.

6. If the children then sell, what is the children's basis.  The children paid 60k for the shares acquired by purchase.  The other 80k shares have a basis of 40k as per the parent's initial basis.  So, total basis is 100k, so sale gives them a gain of 200k.

7. Compare Diedrich the parent's  must recognize 10k gain in year of transfer, and the children's basis is 60k in all of the shares, so then the kids havea  gain of 240k.

8. Notice under the two different approaches, the amount that eventually be claimed on the sale will be 250k.  This must happen because we see an overall gain of 250k, so that is why it will be the same.  The differences between the two approaches is timing and attribution.

9. Under Diedrich, less attributed to donor, and more deferred until the ultimate disposition.  Under the apportionment, parent's attributed a little more.  

E. If Diedrich is the law, why do we look at alternative

1. tax law changes all the time.

2. this emphasizes the underlying problem of what to do when property is transferred and the value is below the fair market value.

3. Also, we have this rule when it comes to gifts to charitable organizations.

4. For Diedrich - then if there is a loss that is not deductible by the parent's, then the children are treated as receiving a straight gift and so we apply straight carryover basis.  So, where the liability is less than the donor's basis, then we treat as a straight gift.

F. § 1011 (b)

1. apportion adjusted basis.

2. this is exactly what we did on part sales.  

3. Example - painting that taxpayer makes a bargain sale of to a charitable organization.  FMV 100k, taxpayer's basis is 20k, bargain sale for 10k.  

a) Set up ratio of sales price to FMV, so 10k/100k, or 10%, so she is entitled to recover 10% of her basis, so 2k.  So, look at portion sold and that is basis taxpayer can recover, amount realized 10k, so 8k gain.

b) So, we look at how much is sold and that part of basis recoverable, then the rest is considered a gift. 

c) Note gifts to charitable organizations generally give rise to deductions.

III. Transfer of property subject to debt

A. When a transfer of property subject to debt, then what is the donee's basis.

B. Primer on depreciation

1. A deduction to account for the predictable decline in value of a wasting asset that is used to generate income.

2. "generate income" means used for business purposes.

3. depreciation is a means of recovery of basis, so again leads to adjusting basis.

4. Suppose machine for 10k acquired by taxpayer, then expected life of machine is 5 years.

a) So taxpayer should be allowed to claim 2k each year for depreciation.

b) By the end of the last year, the taxpayer will have recovered entire basis, so no deduction.

5. What if taxpayer sells machine at the end of the first year for 10k.  They have taken depreciation deduction, then basis was adjusted to 8k, so now amount realized is 2k difference between sale price and basis.

C. Crane v. Commissioner

1. Buehla and apartment home - widow gets apt building from husband, at his death the FMV is 262k, at the time of his death, it was also subject to a mortgage.  So, outstanding debt on property, so nonrecourse loan.  So, debt was 262k, so identical to FMV, her equity zero.

2. During her ownership she takes depreciation deductions of 25,500 dollars.

3. Then, she transfers the property subject to the debt for 2,500.

4. So, two questions, what do we do in terms of basis on front end, and in terms of amount realized on the back end.

5. Buehla says that the FMV of what she received was 0, so she has no basis.  Therefore, her equity in property. Depreciation deduction is inconsistent with her claim of starting basis as zero.  So, depreciation deduction is a means to recover basis, and with no basis you should not have to deduct.

a) If we accept that equity is basis, if person buys property with cash they can deduct all depreciation.  Fi person got through debt, their depreciation deduction would be much lower.

b) We also want to keep debt separate from the property.

6. Court rejects her argument that equity is basis.  Also, an issue is 1014 says property of decedent determines basis, not the equity, so plain language.

7. original basis - FMV of property is the basis.  Broader principle is that we treat debt and cash the same for purposes of determining basis.

a) We treat the loan transaction separately from the value of the property in question.

8. adjusted basis at transfer

9. Amount realized - 2,500 cash, plus now she does not have to pay mortgage - if we don't take mortgage into account, then we get absurd result of finding a loss, which just cannot be where here there was clearly a gain.  So, amount realized is 2,500 and debt assumed.

10. Basis is 262k minus depreciation so 25,500 which is 236,500.  
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I. Transfers of property subject to debt

A. Crane raises two questions

1. what was basis when she inherited

a) FMV of property at husband's death.

b) Broader proposition - treat debt proceeds the same as cash to determine taxpayer's basis in property.

2. what was amount realized when she sold the property with the nonrecourse debt.

a) So, symmetry - assumption of debt by purchaser is considered as cash as well.

3. Here - FMV value of property at sale exceeded debt she owed, 

4. Footnote in Crane that alludes to the case where debt exceeds FMV of property.  Or where abandoned property

a) Problem is if debt is nonrecourse and now debt worth more than property pledged, so your incentive is to walk away and let the bank foreclose.  

b) What should we do for amount realized if this is the case, then?

c) Should amount realized be less than debt?  Or do we still treat debt as cash.

B. Tufts

1. asks question of if the FMV of property is less than nonrecourse debt owed

2. TP here is partnership, but here treat as one entity.  Partnership borrows 1.85 mill. And invest 45k too, to buy apartment building.  

a) First two years they take depreciation deductions totalling 440k.

b) Then real estate market crashes, now FMV of apartment building is about 1.4mill.

c) They sell to third party who basically gives them nothing, or a very nominal amount.  Essentially walk away, so now, what do we do??

3. partnships and motives

a) why invest like this?  Depreciation - NACRS (remember accelerated cost recovery system)  meaning depreciation value comes sooner than actual decline in value.

b) Possible timing motive for the accelerated depreciation too.

c) Also, when you sell asset, the gain is capital gain income to make up for depreciation that has been counted against regular income with a higher tax rate.  

d) This was huge way to invest, basically legal money laundering.

4. TPs argued that amount realized was 1.4mill or FMV of the property.  Basis is original cost plus cash invested, and then deduct depreciation deductions, so basis now 1.455mill.  So, they show a loss to be deducted on their taxes.

5. Court's holding  - adopts IRS argument - says amount realized is loan outstanding just like in Crane - so 1.85 mill.  Then same basis, and now we get 395k income - so this is more of what we expect as far as symmetry.

6. bifurcation approach - different way to think about suggested in concurrence by O'Connor

a) two things going on here, first a debt transaction and a property transaction and we should think of these differently, because income generated by each is different.

b) On property side, we treat it as if sale at FMV which would be A.R. - 1.4mill.  basis is - 1.455 mill.  So, 55k loss.

c) Then debt transaction - outstanding debt is 1.85mill, use property to repay debt on their account so 1.4mill.   So, 450k income on the discharge of indebtedness, because satisfying a loan for less than the value of that loan.

7. Differences between bifurcation and majority

a) Majority sees it as one transaction - the income for them is capital gain on the disposition of property.

b) Bifurcated results in income that is discharge of indebtedness so it is regular income.

c) The real difference is the tax rate of the two approaches.

d) Bifurcation allows us to see actual type of income we are talking about.

e) Problem is IRS didn't ask for this, so we cannot force it on them - up to leg to do, or IRS to ask for.  IRS problem is they were treating these cases like Crane, so reliance of TPs on this practice and IRS would find it hard to change this.

C. handout 8

1. total depreciation taken is 100k, so adjusted basis is 300k.  Amount realized is 450k.  So gain is 150k as income.  No tax consequences for repaying the mortgage.  

a) Capital gain here, so taxed as such because it was gain on disposition of property.

2. Adjusted basis the same, and the A.R. is the cash plus the mortgage outstanding (outstanding face amount).  So, 450k A.R.  Thus, exactly the same result.  Integrates the lessons of Crane of Tufts.

a) The FMV listed to show that this was economically sensically for the parties to do this.  

b) All gain on disposition of property, so it is capital gain for tax purposes.

3. Amount realized is 380k.  Adjusted basis same, so gain of 80k for capital gain.  This is because depreciation deductions have outpaced the actual depreciation of the property.  No consequences to the repayment of 20k of her own money, because she repayed her entire loan value and therefore no tax consequences.

4. Majority reasoning - adjusted basis is the same, and A.R. is 400k because of face value, so capital gain here is 100k gain.  What about the bank?  Outstanding loan 400k, repayment 380k which is FMV of property, so bank loses 20k.

a) What is O'Connor approach

b) Property part is still 380k A.R., basis 300k, so 80k gain.  

c) The debt is 400k, and then paid back 380, so discharge of indebtedness income of 20k.  So, same amount total.

II. The realization requirement

A. Now questions of timing as pure issue.  Basic idea is we don't tax people on accessions to wealth when the accession is only the appreciation in value of property owned.  This is different than prior concept, because we do not force inclusion in income until a realization event occurss.

B. three steps to include gain from property (three realization events)

1. income in an economic sense (accession to wealth)

2. realization - so what exactly do we mean by realization.

3. recognition - need to have because at times the TP may be able to avail himself of an exception in order to say that despite the first two qualifications the TP still does not have to include this in income.

C. B is important because it shows that we need these specific three steps in order to put in income.

D. Example - TP purchased home for 200k - after boom etc.  the FMV of property is 500k.

1. this is income in an economic sense - better off by 300k as accession to wealth.

2. no forced inclusion because no realization here.  Basic principle that we do not force inclusion of property appreciation unless there has been a realization event.

3. If you did sell, it would be 300k realized, but do you have to recognize it all?  Not necessarily because sec 121 and favoring sale of principal residences allows huge value to be excepted from recognition.

E. Eisner v. Macomber - seminal case to look at what realization is.

1. Ms. Macomber owns 2200 shares in oil, and oil co decides to issue stock dividends (basically now called stock split).  Oil co sends her an addition 1100 shares, so now 3300 shares.  So, is this a realization event is the real question.  Should we force her to recognize the gain or not?

2. Essential idea to think about in this case is that when someone has a realization event, they are not any better off as a result.  If you ask if TP is better off, or has accession to wealth as a result of the event, the answer will always be no.  

a) So, real quesiton si if this is appropriate event to force recognition of a prior accession to wealth.  Is this a good point to account for the accession to wealth.  

3. A corporations 3 choices for earnings

a) Retain and reinvest

b) Cash dividend

c) Retain, reinvest, & issue stock dividend

4. an accession to wealth?

5. Court's analysis

F. Assessing the realization requirement

G. Exceptions

H. Section 305
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I. Eisner v. Macomber - stock split case

A. A corporation's 3 choices - where accumulated eanings for the corporation, now 3 choices

1. retain the earnings and use them to reinvest in the company, now stockholder has 10 shares worth 1.50 each

2. pay a cash dividend of 50 cents per share.  Stockholder has 10 shares, worth 1.00 each.

3. retain the earnings, but issue a stock dividend.  So, now each stockholder has 15 shares, and each is worth $1/share still.

B. Standard oil picks number 3 - really stockholder is not any better off than if the company had chosed number 1.  Identical in value and in amount of company the stockholder owns proportionally.

C. An accession to wealth - no accession to wealth as a result of the stock divident.

D. No real accession to wealth if cash dividend paid, also no real accession to wealth if she sells it.  

E. The point of it all is that realization requirement is not a question of if the TP is better off, they never will be.  The question is if it is an appropriate time to recognize the income at this time.  What is it that leads to recognition of the increase.

F. Court's analysis

1. Number 1, or company has reinvested and your share value increased, this is not income within the 16th Amend.

2. Court says no difference between 1 and 3, other than formality of number of papers stockholder is holding.  Therefore, 3 would not entail income under 16th Amend. Either, therefore dividend is not a realization event.

G. Ultimately TP will have to include the gain in income, unless she makes a tetsamentary gift of this.  So, the question becomes when we force her to account for the gain.

H. Section 305 - Congress has endorsed this holding.  Stock split etc. not included in income, which is said specifically in this section of the code.  Exceptions are when number 1 and 3 are not the same - such as ordinary stock exchanged for preferred stock, or total larger share of the corporation.  Thus, when TP gets something different, then that is realization, which is spelled out in 305.  Another exception is when stockholder is given a choice between 2 and 3, which is also realization (doctrine of constructive receipt - when TP given choice between cash and something in kind, even if TP takes in kind item, then it is realization).  

II. Helvering v. Bruun - KS case

A. Justice Roberts writes - change in time saves nine person, switch in time is his famousness.  

B. Lease and building

1. Lease begins in 1915

2. 1929 - T builds a new building on the land.  

3. 1933 - T unable to pay rent and abandons the property and cops out of the lease, term of lease was 99 years so this was decidedly early.

C. Question presented is if the LL had accession to wealth and must realize it when the T abandoned and he regained the property.

1. Question of timing in that does LL have to recognize the increase in property value when the T leaves.

D. TP relies on Eisner - says no different because we are only talking about appreciation only.  Also Bruun could likely not sell the building without selling the land.

1. Really value he received in building is not extricable from the investment in the land.

2. Stock and money attached inseparable from Macomber, which is what TP cites.

E. Court notes that TP did not show that the building could not be removed from the land and thus treated as separate investment, but court does not take the easy way out.

F. Holding (and Macomber)

1. This is a realization for LL, and he must include difference between old land value and the new building value.  So, FMV of new building basically.

2. Distinct asset that the taxpayer has received, not so much like Eisner.

3. Court may be backing off of Eisner, so we may not reconcile the two fully.

4. no realization for the land, so no way to take a loss

G. Again merely a question of when.

H. We will also adjust his basis though for a future sale.

I. Consequences

J. Secs 109 and 1019

1. Under 109, Bruun would now win.  If he won, still same inclusion overall amount wise, so really a pure question of timing.

2. 109 literally tells us that Bruun result is rejected, broader reasoning that you get anything extra, that is realization of income.  

3. no inclusion in income until sold.

4. 1019 - no adjustment to basis due to improvements, etc.

K. Eisner - Const. notes about realization and income abandoned, but the holding codified.

L. Bruun - embraced reasoning, but statutue now says that precise holding does not apply.

III. Cottage Savings - most recent iteration of the idea of realization.

A. S&Ls in the 1980s - window into the S& L crisis era.  These banks all stuck with this fixed rate long term mortgages at very low interest rates.  Banks losing to inflation really because of this and losing possible profit.  Lost collectively about 1 trillion dollars.

B. Suddenly many people are keeping eyes on them, and there is now an incentive to look attractive financially.

C. Board mentioned then is about to shut them down because really not making enough to be okay.

D. Memorandum R-49

1. thought of the need to possibly save taxes by claiming these actual real losses, but don't have to put on the books and make totally clear to the world.

2. So, what all good businesses would do is go to the federal regulatory industry and make sure they are in your favor.

3. Here the memo 49 is put out in order to allow tax deductions, and no change in books, so keep company looking goo.

4. Memo says you can take mortgages, bundle them and then swap them with other companies doing the same thing so long as they are identical.  Swap of legally distinct entitledments, so can call realziation and then take a loss on taxes, but no need to recognize these losses for purposes of financial accounting.

a) The tax losses, may even be looking like refund checks through carryover and looking back, so could generate cash, and no have to look at them for the books.

E. Swapping clearinghouse set up to facilitate this and commissions were about 1 billion in 2 years for this company.

F. Enron came under this and taxpayers had to really make up the diff.  huge bail out package to resolve the issue that was dug into.  Led to no new taxes pledge of Bush and possibly Clinton election.

G. Question became if the board was correct and this was realization.

H. IRS argues not realization, so no loss deductions.  Said the things being swapped were not materially different.  Said no change in value, and market did not really consider them different, adn actual companies did not see what they were getting as totally different.  Really only swapping 90% difference, so that mortgagees mailed same check in to same bank.  So, really just a scheme and should not be allowed.

I. Defining realization

1. USSC says that yes, there must be a material difference in properties for it to be a realization event.  This goes to disposition of property from 1001-1 Reg.

2. Court says this swap counts as materially different swap because the people received different legally distinct entitlements.

3. Realization event is when TP receives something with legally distinct entitlements from what she had before the transaction.

4. Court said different homes and borrowers so legally distinct entitlements.

J. So, realization definition here is now there and is still valid.

K. Significance of sec 1031 - express nonrecognition provision dealing with exchange of like kind of properties.  In these cases, do not have to recognize the gain from this swapping.

1. How does this support Cottage Savings?  If you don't have to recognize it according to 1031, then this assumes that there was a realization of the increase in value.  So, this swapping considered realization event.  So, this backs up what the Court decides in this case.

a) So IRS argument that this was not realization would render 1031 superfluous, adn we never want to interpret part of the code that will render another part invalid.

2. Goes to interpreting tax code as a whole.  So, interpret provisions in terms of the whole in order to make it all make sense.

IV. Assessing the realization requirement

V. Exceptions.
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I. Realization requirement

A. Materially different, and legally distinct entitlements as ways to say that there has been a realization event. 1001 only makes sense if exchange of materially different exchange of different legal entitlements makes it a realization, which is sort of required.

B. Why the requirement for realization

1. benefits

a) simplicity - 

(1) administrative burden of reporting all increases in property value.  

(2) FMV due to this usually.  valuation

b) something to pay taxes with, so liquiditiy

2. costs or inefficiencies

a) lock in effect - because you will have to pay tax if you sell your property, there is a disincentive to sell and alienate property.

(1) Requirement operates against desire under property law to increase alienability.

b) Fairness - really benefits those with higher income.

(1) Vertical equity - wage earners vs. those who earn money from property sale.

(2) Horizontal equity

c) Skews investment decisions

C. Assessment

D. Exceptions - 

1. 551, 951 - foreign corporations must include in income even if no realization event.

2. no constitutional barrier to the exceptions, in other words, the Constitution does not require realization in income.

3. Really the most important thing is the savings in admin cost until we have a realization event.

II. Express nonrecognition provisions

A. Back to three points for recognition of income for disposition of property

1. accession to wealth

2. realization

3. recognition - presumptively when we have realization, we have recognition.

B. 1001(c) - whenever we have realization, we must also have recognition, unless otherwise provided in subtitle, so this unless is what we are looking at now.

C. Remember LL case where no reason to recognize improvements when you get land back, but cannot increase basis either.  This is deferral provision, not forgiveness, which we see in this whole mess too.

D. Involuntary conversions - 1033 

1. section means if property is converted against the taxpayer's will, then the taxpayer may not have to recognize all of the gain on that realization to the extent that the amount received is reinvested.

2. gain recognized  - lesser of two things:

a) gain realized, or

b) the amount realized less the cost of the new property, which is similar or related in use.

(1) The amount not reinvested.

3. new basis - cost of new property minus any unrecognized gain, but realized gain.  So if taxpayer does not have to recognize part of gain realized, then the taxpayer must defer this until later sale, but still a deferral and not forgiveness.

4. Illustrations

a) Building worth 5 mill, building burned down, insurance pays out 10 mill., then taxpayer within two years reinvests in a new building which costs 8 mill.  The new building is for similar or related use.  Consequences are that the gain realized is 5 mill.  The amount realized minus the cost of new is 2 mill.  So lessor or 2 mill is what he must recognize.

b) New basis for building is cost of new property or 8 mill.  And subtract the part of the gain realized that was unrecognized.  So, the new basis is 5 mill.

c) Remember deferral, and not forgiveness provision.

5. what if cost of new building is 16 mill.  No recognition here, because for second or of the lesser of two, then think about as reinvestment, so nothing was not reinvested, then no recognition.

a) New basis is now 16 mill minus 5 mill, which is unrecognized gain, then new basis is 11 mill. In new property.

E. like-kind exchanges - work same with same prinicipal of preserving unrecognized gain, while deferring it.  Under 1031.

1. conditions

a) property must be held for a productive use or for investment, it cannot be used for personal purposes only.  True on both ends - the property transferred, and the property received.

b) Taxpayer specific in its provision - one person's qualification under this provision, does not depend on the other person's qualification.  So, one side can qualify even if the other party does not.

c) Types of property that are excluded

(1) Property held for sale, or inventory, stock in trade.

(2) Stock, bonds, notes

(3) Other securities, evid. Of indebtedness or interest

(4) Interests in partnerships

(5) Cert of trust or beneficial interests

(6) Choses. In action.

d) All in c) are excluded besides qualification under the statute.

e) Knowing exactly what qualifies as like kind is fact specific, and only one important thing we need to know

(1) All real property is like kind with all other real property.  Important because about 99% of these types of exchanges are real property exchanges.  Type of real property is irrelevant.

2. straight like-kind exchanges

a) A FMV of $100, basis $40 - B FMV is $100, 

b) Amount realized for A is 100, basis 40, then gain realized is 60 - none of this must be recognized because taxpayer is exchanging only in kind.  

c) A's basis in new property is old basis in his which is 40, then add recognized gain which is zero, then subtract boot which is zero, then new basis is 40.  So, really if we have straight up like kind exchange, then there is no change in basis and you keep the basis that original property you transferred had.

3. exchanges with boot

a) If something is exchanged with like kind, but is not like kind, then it is boot and cannot be treated as like kind exchange.  The boot is different.

b) receiving boot - when taxpayer receives boot, gain = lesser of 

(1) gain realized, or

(2) FMV of boot received.

(3) New basis is old basis  plus gain recognized minus FMV of boot received.

c) tranferring boot - new basis is old basis plus FMV of the boot transferred

d) boot other than cash - what if now a pig worth 20, but basis 5, then you now see amount realized as original basis plus 5 for boot, so total basis is 45, then gain realized is 75 if total like kind and pig total 120 then.  Then, gain on the pig is 15, so that is the gain that must be recognized because it was nonlike kind property.  This is all that is recognized.

(1) New basis is = old basis in all transferred is 45, then gain recognized 15, then 0 is boot recognized.  So 60

(2) When transferring boot new basis is old basis plus FMV of the boot, gets to same place, same idea basically.

e) transfer of properties subject to debt

4. justifications for § 1031

F. sale of personal residences

G. handout 9
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I. Express nonrecognition provisions

A. Like-kind exchanges

1. receiving boot other than cash

1. taxpayer must still recognize gain on any not like kind property.

2. amount realized 120 total value, basis is 40, gain realized is 80, gain recognized is 20.  

3. basis question is more complicated than usual.  Basis in boot here is 20, because when tp recieves boot in like kind exchange, the basis in the boot is fmv at time of exchange always.

4. basis in like kind property - original basis in like kind property which is 40, plus gain recognized, and then minus fmv of the boot recognized, so back to original of 40.

5. gain realized on transaction is 80, force recognition of 20 for boot, and then new basis still 40, then still preserved unrecognized gain.

2. exchanges of property subject to debt

1. what if A has property 40 basis, fmv of 120, debt attached is 20

2. B exchanges his property with fmv of 100 for all of A's stuff with the debt. 

3. debt attached when exchanged is treated same as cash in addition.

4. Amount realized is 100 for new property received, Plus the 20 for the debt.

5. Basis is 40

6. Total gain realized is 80, so A has to recognize 20 or the value of the debt, because it is treated as boot that is not like kind and really money.

7. New basis= 40(old basis) plus 20(recognized) minus fmv of boot or 20 equals 40 basis still to preserve the unrecognized gain.

3. note that the rule for debt is that what is important is the net debt relief in the exchange.  So balance the debts out against each other and figure out the rest of the stuff.

4. remember must recognize fmv of boot received or amount realized whichever is less.

B. All of the previous nonrecognition provisions - were only deferral provisions.  Now.

C. sales of personal residences  - 121 - fundamentally different the forgiveness here is to never be recognized.

1. forgiveness - not deferral here.

1. limits for monetary 

2. requirements - 

1. owned for 2 years aggregate for last five years

2. used as principal residence for 2 years out of last five.

3. tp cannot have used 121 exclusion within the last two years.

3. exceptions - 121c

1. when tp moves and sells principal residence for particular reasons.

2. certain events, and now added safe harbors that qualify

a. involuntary conversion of residence

b. natural or man made disaster

c. acts of war or terrorism

d. death of tp

e. divorce or legal separation 

f. multiple births from same pregnancy.

3. under these though the exclusion will be limited.

D. handout 9 - keep in mind requirements in general to make "like kind"

1. basis of BH 200, Fmv 325, RH 275, boot 50 from RH person.

1. amount realized= fmv of received (275) plus fmv of boot so 325, basis is 200 or old basis.

2. gain realized is 125k

3. must recognize 50k or fmv of boot

4. new basis - 200 (basis in transferred) plus recognized gain minus fmv of boot or 50, so new basis is 200k.

5. so we preserve the 75k of unrecognized gain.

2. Amount realized is 325k plus 0 - no 50k because he is giving it. or  is amount realized minus basis is 250k(basis in all of the property being transferred) 

1. gain realized is 75k

2. gain recognized 0 - because he is not receiving boot, he is only receiving like kind property.  So, no gain recognized

3. new basis is old basis plus gain recognized of 0 plus fmv of boot transferred.  So, when boot given not received we at its fmv onto the old basis to get the new basis.

3. amount realized is 325 or property value received.  Basis is 200 plus the 15 dollor basis given.

1. gain recognized - must recognize gain on like kind property or 35

2. new basis is 215 (overall basis) plus 35 or gain recognized so 250 is new basis in the property.

3. could also just add the old basis plus the boot fmv which is what we do for boot that is transferred and not received.

4. amount realized is 300 plus 50 received based on relief of debt. Minus basis in 200.

1. gain realized si 150

2. gain recognized is 50 - lesser of two between amount realized and the fmv of the boot.

3. new basis - 200 (original basis) minus fmv of boot or 50, plus 50 gain recognized, so 200.

4. can check work by looking at gain realized minus gain recognized so 100 - then it should equal the fmv at transfer minus the new basis and have this same figure.

5. amount realized is 350 plus 50 or net debt relief, basis is 150, so gain realized is 250

1. gain recognized is 50 or the lesser of boot received or gain realized.

2. new basis = 150 plus gain recognized minus the fmv of boot so 150 is the new basis.  

3. Now, 200 unrecognized gain, so diff. between 150 basis and the 350 or fmv right now of received stuff.

6. amount realized is 260 plus the boot fmv or 15k, so total of 275 amount realized

1. basis 325

2. loss realized of 50

3. loss recognized is zero, not allowed to recognize boot just because you get a boot.  The like kind property no disposition, so that no loss recognized.

4. dumb exchange - really we do not have this situation because people know better.

5. new basis is old basis of 325 plus gain recognized of 0 minus fmv of boot which is 15 - so now we get to 310 as the new basis.

6. this is an example of where calculation for new basis the second and third numerals do not cancel each other out.

7. here unrecognized loss was preserved - which is the case here.

7. basis is 250k, sells for 550k, uses proceeds and 50k to buy redhouse for 600k

1. realized 300k from sale of BH through regular calculation

2. 50k is all he must recognize, because 250k is an exclusion under 121.

3. what is significance of his purchase of new home?

a. Before there was no need to recognize anything if you spent all of the proceeds from sale on a new home.

b. This rule was repealed, and replaced by 121 - it is straight forgiveness, so new house is irrelevant.

8. melville cannot exclude anything off of this.  Since they didn't use the wife's before irrelevant.  Cannot carry over.  Amount used before now not allowed to be carried over so all or nothyign each transaction.

1. gain recognized is 100k, given that no exceptions apply.

9. No problem to exclude 100k, two year gap, the only missing fact is if they used the new place as a primary residence.

10. amount realized is 1.25 mill.  Basis 500k, gain realized is 750k.  can excludee 500k, 250 must be recognized.

11. moving for change of employment so can use one of the exceptions.  So can exclude 500k allowable exclusion - times the ratio of period qualified vs. 2 years.

1. take shortest of three requirements above and make to ratio of two years, and this gives you percentage of other wise allowed exclusion.

2. shortest is the 1 year that they lived there, so 1/2 is ratio, so now can exclude 250 or half of allowable exclusion

3. Must recognize nothing - entitled to exclude 250k, and gain realized is 100k, so do not have recognize anything.

II. recognition of losses - 

A. note idea of capitalization -why had the costs in obtaining the route authorities not already been deducted?

B. rev. rul. 84-145

1. nature of the loss

2. capitalization

3. ruling

C. meaning of standard

D. selling short against the box

III. the use of hindsight
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I. Recognition of losses

A. Introduction

B. Rev Rul 84-145 - no exchange, so not quite like Cottage Savings.

1. Question is how much must happen for TP to take a loss, after got property that has declined in value

2. Here route authorities issued to the TP, and the old CAB regulation board issued these authorities.  This was a time when the fare value was regulated, and in exchange the number of carriers was limited for certain routes.  Competative to obtain, so quite expensive.

3. Congress decides in the '70s to deregulate and passes the Airline Deregulation Act.  

4. Taxpayer's loss - after the act, the route authorities decline in value because now anyone can go on the route.  Standard for route authorities authorization goes from a "public necessity" to "not unfit for service" so now easier to get the authorities.

1. thinking of lobbying expenses and expenses to draft documents, possible lawyers, etc. to originally get the route authorities.

2. The company was not able to deduct these losses in the year that they incurred them.  They were capital expenditures, so if they had been deducted in the years when they occurred, there would be no case now.

3. Instead they were forced to:

5. Capitalization - of the expenses incurred in obtaining something, then taxpayer is entitled to recover the costs

1. capitalizing the cost is a reason to adjust the basis, so that you will get it back when there is a realization event.

2. If the asset is long-lived, the cost must be capitalized - so if asset will last beyond the tax year in which it is acquired, we require capitalization of loss, because otherwise we would allow deduction of the loss too soon.

3. this is not mentioned in the revenue ruling, but important to understanding the ruling.

4. So, think of house you buy for 1 million, then that year you don't get to deduct that 1 million.  You must either use depreciation, or wait until realization event.

5. So, the routes here are long-lived, and not subject to depreciating assets (non-wasting) so no basis recovered, then the loss just must be capitalized, and the deduction must only come when realization event occurs.

6. Ruling

1. Not permitted to take a deduction in this case.  In order for taxpayer to take a deduction, we would need complete loss in value for the TP.

2. p. 237 - route authorities not worthless, dimuntion in vlaue is not enough.  No transactions completed by identifiable events, so rights unchanged and cannot deduct now.

3. not totally dissolved, so still had to obtain the authorities, therefore, still had some value, so no fixed event, means this is not a moment at which to realize the loss.

4. goes back to needing a realization event in order to allow a deduction in any way.

II. Constructive Realizations - not terribly important, but shows struggle between tax bar and IRS

A. TP is early employee at google, and now has stock in google as a result of exercising stock options.

1. Basis in stock options is 10k, so small value when obtained.

2. FMV now is 5 million in the stock.  

3. TP does not want to keep all of her net worth wrapped up in google, so needs to diversify or get cash from this.  But, she does not want the tax bill right now.

4. If she sold stock right now, it would be 4.99 million in gain, so huge tax.

5. what if she borrows 250,000 shares in stock, so no tax consequences to borrowing.  Then, TP sells the borrowed shares for 5 million dollars.  No tax consequences to this at all, because basis in shares she borrowed is 5 mill, so no gain.  So, she has no tax consequences, and she is on the hook for the 250k shares that she borrowed, so now no risk if the shares go down in value, all she has to do is pay back shares with her own shares.  

6. So, this is a great deal for the tp, and huge abuse available.

7. Congress didn't like this abuse, so passed 1259 - saying any constructive sale is treated as a real sale.

8. So, that special pretty deal is no longer an option for the tp.

III. The use of hindsight

A. One important thing to understand about income is that it is a flow and is measured over time.  This results in the need to have a defined measure of time with which to determine income.  Our system from its inception has used the year as its measure of time.  Most people see as calendar year, businesses may decide on some other basis, so long as they are consistent.

1. so really this choosing of beginning and end points is arbitrary, and the result will be some arbitrary results and some unfairness, but 

B. The annual accounting principle - foundational principle.

1. Over time we have developed some provisions to help keep dramatic unfairness to a minimum.

C. Burnet v. Sanford & Brooks - cited for this principle usually.

1. Company that was dredging the DE river, it did so over several years (1913-16).  In three of these years the company had losses on the contract with the govt.  This was in good part becaus eof misrepresentation of the nature of the job to them, which results in a law suit.  So, the unrecovered costs was about 176k.

1. company prevails, and gets costs back, and gets 16k in interest on that amount.

2. interest is reported by the company as gain on taxes, so no issue there.

3. The question arises about the 176k in unrecovered cost.

4. So, now imagine that this was the only contract that the company was working on.

2. Taxpayer's argument - recovery of cost is not income, govt wants it included in income.

1. Company says they should not have to include this because it would violate the 16th Amendment.

2. Company says on the contract they did not end up with any income or loss, but rather ended up even on the net.  So, they are looking at things horizontally.

3. The IRS however, says that we look at things vertically - therefore each year is separate, because we have annual accounting principle and not a contractual accounting provision, so that each year must be treated separately.

3. benefit from deductions - no problem really if the company had deducted losses along, but the problem seems to be that they could not offset any gains using the losses each year.  This is because you cannot get money from the government if you have a negative income in the year.  It is the same as zero.  So, really they could not use the losses to their benefit, so now they want to use the losses to offset the now gain.

1. Result here is clearly unfair, but works with the annual accounting principle, so treat them as having 176k gain on the contract.

2. Government wins even though it is patently unfair to the company.

3. This is all because we use the annual accounting principle.  We do not think of things on a contractual basis.

4. Congress has added provisions that mitigate this, but still have this annual accounting principles.

5. No matter how unfair this is the annual accounting principle will prevail.

4. Comparison to Clark - that case where the lawyer tells them to file jointly, and they lose money, and they when tax lawyer pays back what he caused them to lose, then the IRS does not require them to include that in income.  How can we allow these two cases to sit together?

1. In Clark - the 19k recovery was never taxable, and would have been enjoyed tax free.  So, under replacement rule it is nontaxable always if it is nontaxable at any time thereafter.

2. The TP is getting income that would be taxable if it was recovered throughout the time, so it will taxable later.  This means that the replacement principle will mean this is taxable later too.

D. Section 172:  NOLs - one of Congress's answers to unfairness - allows carryover and carryback.

1. Important to remember that generally this only applies to losses related to businesses.

2. Problem 3 - page 130 - 1999 Bob earns 60k salary, deduction for personal exemptions of 4k, itemized nonbus deductions of 16k

1. 2000 - Bob earns 60k salary again, suffers 80k buss loss that is noncapital, deduction for personal exemptions is 6k.  Nonbus itemized deductions were 15k.

2. How much can he carryback to 1999? 

3. Taxable income in 1999 was 40k, taxable income in 2000 was a 41k loss.

4. Cross out the personal exemptions, but can sort of take into account nonbus exemptions for other nonbus gain, no gain like this this year, so then we cannot set the 15k off of anything.

5. So, now in 2000, we have 20k NOL that he can carryback.  So, he can carryback 20k in NOL.

6. This is an exception to the rule for when amended return can be filed.

7. So, when he files amended, the IRS will process a refund on an expedited basis and send money in refund out asap.

8. note salary is considered bus income.

IV. Claim of right doctrine.
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I. Use of hindsight

A. Problem 4 - allows 97 loss to be carried back to 95 and 96 so those years it has no tax.

1. then the IRS will expedite the amended returns for 95 and 96, then the IRS will refund any tax money paid.  So, then you can carryback two years any deduction, then you can take deduction up to 20 years forward.

2. this is a general exception to the rule that we only allow amended returns for mistake of fact in the year filed.

II. Claim of right

A. Generally income is included in the year that it is received or realized.

B. What if there is a dispute over when the income is received.

C. What if taxpayer does not include or deducts and then later gets back, what should it do?

D. Purpose and significance

E. North American Oil - operating oil land under the U.S. - ouster proceeding from U.S., then U.S. gets receiver appointed

1. income is earned by company and taken in by the receiver in 1916, 1917 company wins at trial.  Income turned over to the TP

2. U.S. appeals, 1920 Appeals Ct. affirms for company.

3. 1922 - USSC dismisses the case, so dispute over.

4. When got money in 1917, the TP went back and amended 1916 return.  IRS says it was income in 1917 the year it was turned over.

5. TP says either income in 1916 when the income was actually earned, or in 1922 when there is an ultimate resolution of the case.

6. Usually TPs want to defer taxation, but here is the opposite because in 1917 the marginal tax rate skyrocketed.

7. not constructive receipt in 1916, because there was no right of the tp to go to the receiver and ask for the funds at that time.

8. dispute at issue

9. when is it income?

10. Court says 1917 there is a claim to the money and they receive them without restriction.  So, then in 1917 they have an unrestricted claim to it.  So they take the money under a claim of right.

11. Claim of right receipt requires- 

1. TP receives the money

2. treats the funds as its own, and

3. concedes no offsetting obligation.

12. goes back to tax system and demanding a degree of finality.  

F. Lewis - addresses question of if tp takes under claim of right then reports it, and must eventually pay it back.

1. 1944 - Lewis got 22k bonus from employer, employer later says that you are entitled only to an 11k bonus, Lewis says he deserves full bonus and holds on.  Results in litigation - 1946 he is forced to pay back 11k to employer.  

2. IRS says you can deduct 11k in 1946 so that is okay, Lewis does not like this system.  Again we have a drop in tax rate, where more beneficial to deduct in 1944.

3. Nature of taxpayer's claim - he wants a return of the amount he paid in taxes in 1944 as a result of including the money.

4. deductions vs. credits

1. we could allow him to amend the 1944 return, or allow a credit on the 1946 return.

2. Credit - dollar for dollar reductions in tax liability.  So, Lewis wants exact dollar amount that he included which he did not have.

3. Deduction - reduction in income subject to taxation.

4. Credit is worth its dollar value on its face, but the deduction value is dependant on the taxpayer's marginal rate.

5. Court ends by holding annual accounting as paramount, so that there is no credit here, and amended return not allowed.  Therefore, Lewis can use 11k deduction in 1946 as his alternative.  The only way 1944 and 1946 are related is by being part of the same transaction, but we are not on the transaction system but on the annual accounting system.

6. amended returns

G. section 1341 - enacted after Lewis as a response from Congress.  Based on Congress' thought that this was unfair.

1. This section has a threshold of 3k, so the amount forced to give back has to be more than this.  Then, the taxpayer can choose either to take the credit or deduction.  So, he can take the one of the following that gives the lesser of the tax liability to him:

1. tax with a deduction, or

2. tax without deduction, minus the decrease in prior tax - so the credit.

2. if credit exceeds tax liability in the year used, then over amount will be considered as an overpayment, then the IRS would have to refund the tax overpaid.

III. tax benefit doctrine - 

A. basic concept  - addresses the opposite question - here, deduction, and subsequent year there is a recovery.  Now we know original deduction was unwarranted.

B. alice phelin sullivan corp. - one of the most famous cases.  Land donated to charity so long as it is used for charitable or religious purposes.  So, the TP is allowed in the year it gives the charitable gift to deduct the fmv of contribution.

1. year 20, the charitable organization can longer used as required under the gift, so the charity gives the land back.

C. Inclusionary side - in the year you get the recovery, you must include in income the amount of the prior deduction.  But, this is odd because under annual accounting without transaction in fluence.  So, we would expect the tp to have to include the fmv of the property when they recover it.  So, this is somewhat contrary.

1. we actually look back to amount previously deducted, but we do not factor in the taxpayer's marginal rate at all.

2. so we allow inclusion of face value of the deduction.

D. Exclusionary side sec 111 - amounts to a harmless error rule.

1. if previous deduction was valueless and did not actually reduce taxpayer's income, then there does not have to be any inclusion in the year of recovery.

2. very limited rule too

3. in deciding if tp received a tax benefit, we also must take into account if it generated a carryover which did not expire, or was used, this counts as a tax benefit, so recovery is includable.

IV. Accounting methods - two basic ways to do accounting

A. 446 - says what are permissible accounting methods for taxpayers.

1. general rule is that taxable income will be computed on the same basis that the tp usually computes income on its own books

2. if no regular method, or method does not clearly reflect clearly the income, then the calculation shall be made on what the IRS sees as a method that appropriately reflect.

B. Really only two methods used

1. cash - tp has income when the tp receives or constructively receives cash or economic benefit.  Focuses on the cash as per the name.

1. liability occurs when tp actually pays the liability.

2. accrual method - income when all the events have occurred to fix the right to the income and the amount can be determined with reasonable accuracy.  Does not matter if constructive receipt or economic benefit at all.  The only thing that matters if all the events have occurred to fix the right to the income.

C. Most individs are on cash, businesses on the accrual basis, because it is a more accurate reflection of their economic well-being.

V. Constructive receipt and economic benefit.

A. Only relevant to cash basis taxpayers.

B. Reflected in handout 11

VI. Handout 11

1.
Anna owns and operates a brewery. Zoe would like to purchase 20 kegs of beer from Anna for her tavern during the holiday season. On December 1, 2004, Zoe agrees to purchase the 20 kegs for $500. In the following situations, when has Anna constructively received the $500 such that she must include it in income?  
a.
Zoe writes Anna a check and gives it to her on December 1. Anna does not deposit the check until January 2, 2005.   

Constructively received on the day she receives the check, so it is income to her when she receives the check in hand or dec. 1.
b.
Zoe, calling from her tavern on December 1, tells Anna, “I’ve made a check out to you for $500. It’s here whenever you want to come by.” Anna picks up the check on January 2, 2005, and deposits it in her account the same day.

Same as above, because she would have the money on Dec. 1 - because it is her choice of when to take money after the money is available to her.  After check written it is within tp's power to reduce it to cash.  Constructive receipt.
c. After agreeing on a price of $500 on December 1, Anna tells Zoe, “I’d rather you not pay me until January 2.” Zoe says that that’s fine with her. She agrees to put a check in the mail on New Year’s Day, 2005.

No constructive receipt, so no income, because her choice was before the K was formed, so she had no claim of right to the money before New Year's Day.  TP's negotiation of a deal is not what affects.  Cash system means that she did not receive until 2005, because no way to claim money in 2004.
2.
Mike has signed up for “direct deposit.” Each month, his employer electronically transfers half of his $5,000 paycheck ($2,500) into a mutual fund account at noon of the last day of the month. Under the terms of the account, the bank immediately uses the deposited funds to purchase mutual fund shares, and Mike cannot sell any such shares until after holding them for at least 90 days. On December 31, 2004, Mike’s mutual fund account is credited with $2,500 for half of his monthly salary. Must he include the $2,500 in his 2004 income?

Assume cash basis taxpayer.   It is his choice to set up this system, so it is constructively received still.  
3.
Pete is a star basketball player at Santa Clara University. He is selected third in the NBA draft, and Pete’s agent is negotiating a multimillion dollar contract with the Golden State Warriors. Pete’s agent wants a signing bonus of $10 million as part of the package. The team agrees in principle, but it wants to pay the $10 million four years after Pete signs the contract. (There are no conditions attached to the bonus.) In the following situations, when must Pete recognize income for his signing bonus, and when is the team entitled to claim a deduction?

a.
On Pete’s signing day, the team purchases an annuity policy from an insurance company naming Pete as the annuitant. The annuity will pay Pete $10 million in four years, and the team paid $7 million for the policy. The policy is nonassignable, and the payments cannot be accelerated. (Assume the policy qualifies as an annuity within the meaning of §72.) 

b.
When Pete signs, the team creates a trust and contributes $7 million to it. Pete is the sole beneficiary of the trust, and the team retains no interest. The trustee is directed to pay over the full value of the trust to Pete at the end of four years. By the end of the four years, the trust has increased in value to $10 million.

c.
When Pete signs, the team creates a trust, but the trust names the team as the beneficiary. (The purpose of the trust is to ensure that the team sets aside enough money to pay the $10 million in four years). The team contributes $7 million to the trust when Pete signs, and the value of the trust grows to $10 million in four years. The trust pays over the $10 million to the team after four years, which then gives the money to Pete.

d.
The team signs an unconditional agreement to pay Pete $10 million in four years. The owner of the Warriors signs a guarantee of the team’s obligation.
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I. Economic Benefit Doctrine

A. Handout 11

B. Doctrine says that this applies when secure from the payor's creditors and fully vested.

C. Number 3a - on signing day is when this actually qualifies for the doctrine, irrelevant if he cannot touch it immediately.  If taxpayer can touch the money, then we are covered under constructive receipt, but here this is economic benefit doctrine.

1. if we include at the moment, what is the amount the employee must include?

2. employee must include full amount of the money received.  This is really the fair market value at receipt.

3. what is the fair market value when it is benefit - 7 million or what employer paid for it.  So, taxpayer must include 7 mill in the year of signing.

4. Now, what if annuity value?  Investment is 7 million now, because that was initial amount he included.  Now, expected payout is 10million, so inclusion at the time he receives the full value is 3 million.  So, he must include only at time of first payment - so use ratio to determine the value at that time.

5. team can deduct 7 mill at signing because that is the compensation they are paying.

D. 3b - now a trust - Pete is beneficiary of the trust here, not like the Minor case where not secure for the tp.  This is fully vested too.

1. Economic benefit satisfied, so includes 7 mill at signing

2. complex rules for living trust beneficiary, so don't worry there, but he will eventually have included 3 more million.

3. team can deduct the 7 mill in the year of signing.

E. 3c - team is the beneficiary, so it is a replay of Minor because not secure from the payor's creditors.

1. Pete must include 10 mill of income in year he receives.

2. Team will have to recognize 3 mill of investment income and will have to include.  Team can deduct 10 mill. First.

F. 3d - Pete will recognize the income in year it is disbursed because this again flunks the economic benefit doctrine.  This is because even though it is a K, team could go bankrupt and thus he would just be in line with other creditors

1. 10 mill inclusion at disbursement, where 10 mill deduction for the team at payout to Pete.

II. Tax-preferred retirement plans

A. Qualified employer plans - how tax code now generally deals with deferred compensation. 

1. 4 basic elements to any of these plans

1. contributions by employer are not taxed when they are made

a. typically employers contract with investment companies to set these up.

b. Usually the fund is with a separate entity, so that it is secured from employer's creditor

c. Also vested.

d. Usually this would mean we had economic benefit rule situation, but the tax code gets away from this.

2. contributions by employee are not taxed - this is an exception to constructive receipt (under 401k, or 403b)

3. growth in the account is not taxed either.

a. Regardless of realization events going on within the account.

4. all taxed when it is withdrawn

a. slight downside comes in here because it is taxed as ordinary income.

b. Under the theory that this is deferred compensation is the reason to tax as ordinary income.

2. these are all substantial benefits to doing it this way, but the benefits are deferral benefits, not forgiveness benefits.

1. real benefit is tax deferred until it is withdrawn.

3. generally this is only for retirement, and tp must be at least 59 1/2 years old, some exceptions for first time homebuying or college payments are some exceptions.

4. must comply with ERISA too.

5. Also many nondiscrimination rules, which are similar to §132, but a little more complex.  Discrimination cannot be in favor of higher paid employees.

6. Some difficulty administratively, but still benefits, so many large companies are doing this.

B. Other provisions (IRAs, etc.)

1. could permit deduction to reflect similar encouragement as qualified.  So, employee puts money in IRA, and then is entitled to a deduction for that deposit.

2. also some provisions for self-employed, and college savings accounts too.

C. Look at Roth IRAs too.

III. Employee stock options

A. Stock options generally - option is a right to purchase/sell stock in a given company at a given price during a certain period of time.

1. right to purchase is call option

2. right to sell is a put option.

3. these are just investments that are taxed the same way as other investments throughout the semester.

B. Now a bit of complication where employee is given options as part of compensation, these are all call options.

C. Three important events

1. grant of options

2. exercise of options

3. ultimate sale of stock.

D. Three alternative treatments

1. tax at grant - if we are going to force inclusion at time of grant, it must be inclusion at FMV, which would be difference between exercise price and the FMV of the stock.

1. but no downside, so really isn't this worth a little more than the difference.

2. generally though we do have the difference between exercise price and FMV, then the employer too can deduct this value as if it is compensation.

3. when included in income it is treated as ordinary income

4. then, at exercise there is no realization event - so no tax consequences.

5. when employee ultimately sells, then you would include gain, basis is the amount that person paid, plus value included before.  So, adjusted basis out of amount realized gives you the gain you must include.  Here income is capital gain.

6. Throughout no tax consequences to employer past the beginning one.

2. tax at exercise

1. best theory to do this is too hard to figure out how much the grant was worth is.  So, wait until exercise where we get hard numbers that we can use.

2. nothing happens at grant.

3. At exercise - we tax the difference between the FMV of the stock now purchased and the option price exercised.  Then, this is ordinary income to employee, and employer can deduct as if compensation.

4. At sale of the stock, you have capital gains on the stock, with adjusted basis from exercise pirce plus the income that was included in income at exercise, then take amount realized minus the new basis, then the income is capital gains income.

3. tax at sale of stock - most favorable to taxpayer.

1. nothing happens at grant or exercise.

2. Then, we take amount realized at sale minus the exercise price, and the result is taxed as capital gain. 

3. No deduction for employer

E. incentive stock options (§ 422) - number 3 above

F. non-statutory options (§ 83)

1. inclusion at grant

2. inclusion at exercise

G. Cramer v. Commissioner
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I. Employee stock options

A. Incentive stock options § 422

1. no inclusion until sale of stock

2. capital gain, no deduction for employer

3. 2 year lapse grant to sale of stock

4. 1 year lapse exercisee to sale of stock

5. approved plan

6. exercise price greater than or equal to fair market of stock at time of grant

7. limitation on amount of options that can be granted to one employee, is tagged to fmv of the shares associated with the options at the time of the grant (100k cap on fmv of stock associated with the options that are exerciseable for the first time in a given year).

1. means per year in which options are exerciseable for the first time.

8. Example

1. day 1 - employee gets 1k options when fmv of stock = $90/share, exerciseable for the first time in 2008.  this totals 90k for the fmv of the exercise.  

2. later same year day 150:  employee gets 400 options when the fmv of the stock equals 100/share, exerciseable for the first time in 2008.  extra 40k then, so over cap of 100k.  so 100 options fit within the limit to reach the cap.  So under this only 100 count as 422, but then the remaining 300 options would be covered as nonstatutory under 83.

9. because so favorable, then Congress put limits on it.

B. non-statutory options:  § 83

1. essentially applies to all transfers for services rendered, including employer to employee.  So not just options, but they are included here.

2. first must ask if option has a readily ascertainable FMV at the time of grant?  (crucial question).

1. if no, then no matter what we tax at exercise, and income is the difference between exercise price and the fmv at exercise and tax as ordinary income.

2. if yes, gets complicated.  Then move to number 3

3. is the right fully vested?  (immediately transferrable or not subjected to substantial risk of forfeiture.

1. if yes, then it is an economic benefit.  So the doctrine applies here, it is income.  Then we tax at grant

2. if no, then:

a. taxpayer can elect to include at grant - 83b election.  So include at compensation, b/c ordinary income, but then all growth thereafter is capital gain, so the upside.  But, if tp takes 83 election and if options not worth anything meaning they do not vest or the price goes (underwater - fmv is lower than exercise) then you are not entitled to a deduction at that time.

b. If becomes fully vested before exercise, then you include at the moment it becomes vested at fmv must be included.

c. If neither b nor a, then we tax at exercise.

3. if mandatory inclusion, and then you cannot use the options or you don't do it, then you get to deduct later.  So if you are forced to include, then you get that basis, then you can deduct as a loss.

4. inclusion at grant

5. inclusion at exercsie

C. cramer v. Commissioner

1. private company and no open trading, then there is a buyout by Warner - then the original Cramer corp people are bought out by the new company including the stock option value.

1. cramer - 26 mill

2. Boynton - 7.7 mill

3. Monahagn - 2.2 mill

2. so conflation of the stock and buyout at basically at the same time.

3. reporting position

1. tps make 83b election, and claim fmv to be 0 - means you don't have to include until sale and then it is capital gains.  

2. by claiming fmv was 0 they get 422 treatment somehow.

3. what we are fighting about is capital gains treatment vs. ordinary income.

4. exercise and sale are basically at the same time, but inclusion at exercise means that you have to include as ordinary income.

4. first must ask if there is a readily ascertainable fair market value - if yes, you can elect, if not you are forbidden from using the election.

5. Reg § 1.83-7 - covers this situation.  Two ways to determine if there is a readily ascertainable value.

1. actively traded on an established market - so we can look up the fair market value - generally the case for a public corporation.  

2. transferable at grant, exerciseable immediately, not subject to any restrictions, and fair market valuable must be ascertainable.

6. so, under this second test, because the first does not apply if it is vested then mandatory inclusion.  So too many restrictions to be under the first section so not able to claim the election.

7. validity of regulations 

1. so, argument that tps make now, b/c reg does not work is to say the regulation is invalid.

2. an explanation to the tps of how the executive branch plans to execute the law that congress has set up.

3. executive cannot change the statute, so its regs must be consistent with the statute, and if it is not, then it must be invalid.

4. so, court says we have a valid regulation here - Chevron - Mead Corp interpreted.  Two steps to Chevron

a. has Congress clearly spoken?

i. Yes, follow statute, 

ii. If no, then b

b. If some ambiguity in the statute, then is the agency's interpretation reasonable?

i. If yes, then court will defer to agency's interpretation of the statute.

ii. Because agency's presumed to have some expertise so better position than court's to decide, and between courts and agencies, there is a little bit more legitimacy b/c the pres appoints adn he is elected official.

5. Court ends saying reg is reasonable interpretation, so it is a valid reg.

8. penalties - 

1. parties actually did the following in the year of reporting - listed options in stock section of form, and desbite using basis of zero to get election, but then they said they had a basis in the stock under this inclusion.

2. so parties fraudulently created basis, after saying they had none.

3. you can actually flag certain sections of your return if you are not sure if it is unusual what you are doing, then the IRS will know to check it.

II. income from services

A. lucas v. earl - at this time, all tps filed individual returns, there were no joint returns allowed.

1. parties filed as separate taxpayers

2. income held by either spouse deemed to be jointly held by both parties.

3. half of income of husband reported by him, the other half reported on the wife's return.

4. IRS says husband must claim all of the income.

5. The Court says husband has to claim all of it.  Income to the earner of the services.  

6. Contract between the two re:  splitting was in 1901, but no income tax in this country until 1913.

7. Now a little diff b/c Congress reqs. Joint filing now.

8. This case stands for broad principle that the earner of the income who performs the services is not allowed to transfer the income to anyone else.

B. Has come up in the cases where lawyer on contingent fee, USSC cited Lucas and said that this must be full compensation to the plaintiff and subsequent payment to the attorney.

C. poe v. seaborn -  WA law here says that income earned by either spouse was immediately and jointly the property of both parties in the couple.

1. so, from moment earned it belongs half to wife and half to husband, so they can put it on their separate tax returns.

2. state K law not good enough to make this allowable, but state property law can make it this way.  

3. This state law could not be K'd around, but in the previous case K could change.

D. subsequent developments

1. unfairness under earl and seaborn

1. So, common law - you earn you report, in community property you get to divide.  So, potential unfairness as a result of these two cases together.  Unfairness

a. common law vs. community property states.  so community state folks get this great benefit.

b. within common law, diff. treatment for couples who earned all from compensation, vs. those who had income from property which could be shifted around too.

2. unfairness continued until 1940s, b/c until then no real revenue from taxes being acquired by govt.

3. so, suddenly a lot of states decided community property was better in order to give their residents benefits.

2. 1948:  mandatory joint filing - Congress stepped in after war, adn fixed this type of unfairness by having forced mandatory joint filing.

1. rate for this was to give benefit from two starts from the bottom.

2. so effect was no one worse off for getting married.

3. now, if one spouse earned a lot, and one little, then you get marriage bonus because combined drops down.

3. 1968:  singles rate schedule - singles complained that there was too much incentive to get married.  So, Congress changed rate schedule for singles.

1. Now, soem parties would marry and then their joint rate would be higher than if they had stayed single.

4. the "marriage penalty" - see 1 right above.
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I. Income from services

A. The marriage penalty

B. 1948 - mandatory joint filing - married couples could only reduce tax liability by getting married

C. 1968 - new singles rate schedule adopted.- some married couples for whom total tax liability increased as a result of marriage.  So this is marriage penalty, which has now become more of an issue in modern times.

D. Exists because of three objectives we are looking for:

1. treat all married couples the same

2. progressive rate strucdture

3. neutral with respect to marriage.

4. So, we have achieved the first two of these objectives, and as a result we are not neutral with respect to marriage.

II. Income from property

A. Basic idea - we have assumed this up to this point in the class.  Income from property is income to the person who owns the property has been our basic premise throughout.  Sometimes income from property is split from ownership of properyt - so how do we deal with the income attribution in those circumstances.  

B. We saw from Earl thta if person performs services, then that income is taxed to him, and any transfer thereafter is a gift and not taxable to recipient.

C. So, the real question is has the tp transferred "property" ?  so then income from property is taxed to transferree, but if the tp has only transferred income from property, then it is taxed to transferor only.  So, we are always trying to distinguish when there is a transfer of property, or just income from the property.

D. Blair - trust, and trust income transferred to tp's children.  Tp here only owns an income interest in the trust.

1. assigns 9k each to three different children, and question is who is liable on the 27k each year for taxes

2. Court says that the children must include it in their taxes, so the children are taxable for this.

E. Horst - father owner of coupon bond, which the bond has coupons redeemable for interest at certain dates.

1. Horst clipped off coupons and mailed to his son shortly before they are redeemable.

2. So, question is now who is liable on the interest payments??

3. tp is taxable on the interest payments.

F. Horeizontal vs. vertical slices - as ways to characterize these cases.  

1. in Blair all the taxpayer owned was an income interest, and all taxpayer gave away were slices of that right horizontally, and he retained no reversion after the end of the payment time.  No entitlement to the underlying property right of those interest payments.  So, this was co-terminous or ran at the same time as his own interst.

2. Horst - bond paid interest every year for certain period of time, so we can see this as vertical slices.  Then, at the end of the ten years the principle or underlying property would be given back to him.  These interests are not co-terminous with his own interest.  He has no interest at that specific time that the other person does, so he continues to be taxed on the income that is produced by that property.  

3. crucial question is what donor has and what he gives away, then you will understand what is going on.

G. Handout 12

1. Rafael taxed on interest payments b/c he still owns underlying property right, and only gives away some interest income on that.  Then, tp or donor is taxed on it.

2. same as 1, Rafael taxable in full on the entire amount of the interest payments - underlying property still with him.

3. Rafael pays tax on 1/2 of interest and principle, and Barry pays 1/2 of interest taxed.  So, they each pay tax on what they have received.

4. Rafael still taxed on 3/4 of the interest, b/c he has retained it.  b/c presumption is the person who gets income interest is taxed on it, and the exception is where the person does not have an interest in underlying property.  

1. principle that is received at the end which is the underlying property is looked at as if got back your investment, like stock.

2. So, half of basis would stay with Rafael and the other half of the basis would go to Barry.

3. So, presumably with a bond, then the repayment will equal investment, so neither will have to pay a tax on the principle when it is disbursed.

5. Rafael gets taxed on 3/4 of interest payments because he has retained an underlying reversionary interst.  The other 1/4 taxed to Barry because he has not retained an underlying reversionary interest.

6. Mark pays tax on rent because he has reversion of underlying property interest in the building, and the interest after the five years.  It is retention of the underlying property that matters here.

7. Mark must pay for the five years of interest payments, this is because Mark is the donor.  So, he gets taxed even though if scenario reversed he would not be taxed on them.

8. They each get taxed on 1/2 - because co-terminous.  He does not have underlying property, and so he gives 1/2 of his full interest.

H. Hypos

1. A owns a bond, now what if A, in one gift, gives away all interest payments to B, then principle repayment to C.

1. B taxed on income, because A did not retain reversionary interest.  So, this does not go against the general rule.  So, B does get taxed on the full interest payment.

2. no Blair or Horst problem when donor does not retain any reversionary interest.

3. Even though C owns property that doesn't matter, b/c C did not give anything to B.

2. What if same, but A gives interest in payments to B for five years, then after five years, A gives the principal to C, but B keeps interest payments.

1. A taxed on interest payments, because he owns the underlying property during those 5 years.  Afterwards, B is taxed on the interest payments.  This is again b/c C has not given a gift to B while retaining a reversionary interest, so the rule does not kick in.

I. Sales distinguished - the above rules only applied to bona fide gift, if no gift, but rather a sale is held to rules we have been using throughout the semester.  

J. Section 1(g) - limitation on families transfer of property, or limit on shifting of tax liablity as a result of shifting in family.

1. Known as kiddie tax.

2. when a dependant under 14 receives property and income from that property, that income is taxed at the parents' marginal rate, for amount over 1500 dollars

3. this takes away incentive to shift stuff to kids to get a better tax rate.

4. child does file return - but to get rate, we look to rate on parent's income.....essentially treat as if income to parent's .

5. if less than 1500 - then it is taxed at the lowest rate or 10%.

6. if child earns income from services, then taxed at rate of income.  

III. Transfers incident to marriage - Davis continues to have importance beyond marriage, but also applies when 1041 does not apply.

A. Property settlements:  Davis

1. A taxable event

2. Measure of gain

3. Mrs. Davis

B. Section 1041
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I. Transfers incident to marriage and divorce

A. Property settlements:  Davis

1. In Davis, first must transfer to Mrs. Davis regular support payments, then 1k shares of duPont stock (FMV> basis).

2. a taxable event?  This is threshold question for the court.  We have referred to as a realization event throughout this class. 

1. so we are trying to look at 1001a - defines realization as the sale or other disposition of a property interest.

2. Mr. Davis says this is a division of property between co-owners.

3. IRS says this was a transfer of stock for release of marital rights and obligations under DE law.  So rights surrendered in exchange for the stock.  So this is a disposition.

3. Court agrees with the IRS under the above to say it is a realization event. 

4. measure of gain - so now how much are we going to require to be included.  Look at amount realized minus adjusted basis.  No real market in marital rights, so how do we measure basis??  

1. Court says that when parties are bargaining at arm's length we have no issue, b/c we use the market value of the property transferred, so we assume there has been an equal trade.  So presumption that both get equal value.

2. so his gain is fmv of shares, minus adjusted basis.  This is captial gain.  It is capital gain, b/c it is gain of appreciated value of the stock in his hands.

5. proper treatment of Mrs. Davis

1. what is her basis in stock she obtained?  Fmv of stock received, her legal rights forgone are the money she has basically put in.  so her investment is fmv of the rights, so it is the 10k.

2. does she have any income?  

a. First ask what recovery replaces - the in lieu of idea from Raytheon.

i. Inheritance - but no tax on this so n/a

ii. Spousal support??

b. She gave up things that she was entitled to receive tax free had she received them.

6. notice the court basis threshhold j/ on DE law.  So this is bsis for his and her rights.  Note if comm prop state, then perhaps his co-ownership theory could have held water.

1. so poss issue between the two types of state property regimes.

B. section 1041 - analog to seaborn, but for divorce settlements.

1. mandates that those transfers incident to divorce are not realization events.

2. so if transfers between spouses or former, but incident to divorce, then this is treated as a gift.

3. This essentially supercedes Davis with respect to property incidents re:  divorce - Davis and idea that transfer of property to satisfy legal claims is a realization events it is still good law.

C. Alimony - as per chart below is the one you need to be sure that if labeled alimony, it is alimony.  Note in all three cases, same amount of income is included as always.  

1. taxpayer incentives - payor typically has higher income than recipient of alimony.  So person in higher tax bracket gets deduction, where lower tax bracket person includes, but will be fewer taxes.  So, in the aggregate when looking to the typical case, the total tax liability will be lower in nominal terms.  If amicable, then parties have an incentive to characterize as much as possible as alimony.  So, general incentive to characterize as alimony.  So rules in 71 try to smoke out what parties have called alimony, but are really something else. 

2. statutory requirements 71

1. must be in cash

2. divorce or separation instrument governs

3. no specific non-alimony treatment provision in agreement

4. not in same household

5. no payment after death of recipient

6. not child support or anything that looks like child support in substance.

3. 71f - frontloading provision, very mechanistic and somewhat arbitrary, trying to distinguish alimony from property settlements.

1. so when big payments in first few years treated as excessive alimony and not treated as support.

2. example - Y1 80k, Y2 80k, Y3 - 10k.  

a. excess in year two figured first = Y2 - (15k+y3), here 55k.

b. then, excess of year 1 = Y1 - (15k + avg[y2*, y3]), but in computing this average we use the Y2-excess in y2* - year two value here is after first step and it reflects the amount that really counts as alimony.  Here the y2* is 25k

c. so average is 17.5, so excess of Y1 is 80k- 15k + 17.5, so excess of year one is 47, 500.

d. Now on y3 return - payor must include 102.5k as income, then recipient spouse is entitled to take a deduction in the same amount.  Payor can still deduct the 10k in y3 as alimony, and recipient must include the 10k in alimony payments.

3. Important - only need to be concerned with the first three years, and there will be no calculation of this until after three years have passed.

4. it is irrelevant what happens after y3, and no problem with excessive backloading.

5. exceptions - if payment ceases by death or remarriage this does not apply, if agreement fluctuates as per like percent of income then this does not apply, if payment just not made then rule still applies though.

4. problems

1. no deduction adn no reporting b/c no agreement in the instrument about support under 71.  treated as gifts

2. frontloading, so excess y2= 40k, y1 excess = 32.5k.  so payor must include 72.5k as income in y3 and can still deduct 5k in y3, then payee can deduct 72.5k, but must include 5k as income from alimony.

3. no alimony, b/c continues after death, so it is treated as a gift.  The logic behind this is if it is a transfer of a set amount it looks more like property.  Life insurance - difficult is b/c payment is to 3rd party.  Teacher's manual says this does not qualify, but under treas. regs § 1.71-1T b Q6, A-6  - may include life insurance.

D. child support 

1. general rule 

2. payments in default:  diez-arguelles

3. problems

	
	payor
	recipient

	property settlement (1041)
	no tax consequences
	no inclusion either

	alimony (71, 215)
	deduction under 215
	must be included in income

	child support 
	no deduction
	not included
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I. Transfers incident to marriage and divorce.

A. Alimony 

1. problem 4 - more like child support than alimony, so not deductible by transferor, nor included by transferee.

2. 5 - not alimony because payments not in cash.....this is true even if payment is property in kind, regardless if it is meant to satisfy cash obligation.  Under 1041 - transfer of property between former spouses, because it is incident to the divorce.  So, if this did not work, we treat as realization, otherwise 1041 allows you to treat as gift

3. 5 - second question - maybe, meet the year requirement, but the instrument says cash, but this is not.  Might still qualify b/c instrument calls for payment, then the stock satisfies the payment requirement in that instrument.

B. child support

1. general rule - no deduction for payor, no inclusion for recipient - this is mostly due to theory that if they had stayed together, then there would be no deduction for the support in question.

2. support payments in default:  Diez-Arguelles - any tax consequences from non-payment?

1. 4325 unpaid amount, next 3k unpaid.

2. tp has to cover that unpaid child support out of her own pocket to care for the children - therefore tp takes a deduction for unpaid support under 166(d).

3. question here is if this is permissible.

4. 166 - general rule is if debt is unrecoverable, and thus worthless, then you can deduct for debt as if it was a capital asset held.  This is for nonbusiness debt particularly, but we treat it as a capital loss.

5. Note capital loss deducted only up to capital gain plus 3k.

6. They say here that she must have the money at some time in order to have a basis in the debt.  There is no basis in this debt.

7. So, rule is not deductible, b/c even though she is entitled to money, it is still not deductible.

3. Problems

1. 1041 n/a so this is realization event for Ann, so Ann has 9k gain.  Then, Bob cancels 10k debt with the stock, so his basis is 10k, again he is accepting settlement of legal obligation, and this means what is stock replacing question.  So, it is in place of child support, which if received in cash not taxable, so this is not taxable to Bob.

a. Amount realized if he sells is 9k, so he can claim 1k loss.

2. For ann discharge of indebtedness, so 10k income.  Bob then gets loss of 1k.  Thelma can deduct 10k, because it is a worthless debt.  This is still limited by the capital loss rules.

3. Bob held cash for a few days before giving back, so he is out of pocket a certain amount.  Bob deducts 10k, then Ann must include 10k as discharge of indebtedness on her final tax return.

4. remember realization is exchange of legally distinct entitlements.  So, here realization event.  Bob now due payment on investment, when note defaults, Bob is entitled to a 10k deduction, b/c he is now out of pocket a certain value.  

5. Ann must claim 10k of income as discharge of indebtedness, then Bob has deductible loss of 1k, and Thelma can now deduct 9k as worthless debt.

6. if we take Diez literally, then Bob has 9k in income.  So, this is where the case does not make a lot of sense, but probably does not come up very often.

C. Overview of deductions

1. general - deduction is a reduction in income subject to taxation, by reason of an expense.  This is not an exclusion - which is an amount that never is included in the tp's income.  Also, credits - which are a dollar for dollar reduction in tax liability.

1. most common credit is amount withheld by employer, which is essentially prepayment of your tax liability.  Credits worth exactly the same as their face amount.

2. value of deductions necessarily turn on the marginal tax rate of the tp.

3. section 162 - business deductions, can deduct all ordinary or necessary expenses incurred in earning income, goes back to us not trying to tax grosss income or gross receipts, but rather net income.

4. section 262 is parallel which says personal, family, living expenses not deductable.  There are a few places where personal expenditures are deductible, and these are specified in the code.

5. note issues with some mixed expenditures.

2. Business vs. personal deductions - note 162 v. 262

3. 1040 example

1. first calc gross income, then get to Adjusted gross income, then you get to taxable income, which is basis for computing tax liability.

2. used to be big line at adjusted gross income, so adjustments for deductions to get to adjusted gross income are known as above the line deductions, those after adjusted gross income to get to taxable income are below the line.

3. above the line deductions - can be taken by anyone regardless of tax status

a. alimony

b. moving expenses

c. student loan interest

4. below the line deductions, tps make a choice to either take the standard deduction or their itemized deductions, note the disjunctive, so tps cannot take both.

4. overarching limits 

1. standard vs. itemized - must choose between, but you cannot take both.  So, if you take standard, you cannot itemize at all.

a. Standard - meant to be easier, then also creates a zero percent tax bracket.

2. section 68 - phaseout of deductions as income goes up.

a. 100k limit now adjusted up to 145,950 due to inflation.

b. Example - imagine otherwise allowable itemized deductions are 20k, and AGI for the year is 245, 950.  So, AGI over applicable, so now deductions are reduced by a certain amount.

i. AGI is 245950, reduce by 145950, the excess is 100k, multiply by 3%, so 3k - so this is one disjunction.  Other option is multiple deductions by 80% and reduce by that.

ii. Now pick lesser, so 3k, then reduce 20k by this, get 17k as allowable deduction.

iii. Specifics listed in rule are not subject to phase down of section 68.

c. Note section 68 is being phased out up to 2010, then 2011, the section comes back the same.

3. section 67

a. miscellaneous are only allowed if they exceed 2% of the income.

b. Then next section says what is excepted from this rule which is all but two of any significance:

i. Unreimbursed employee expenses

ii. Personal investment expenses.

iii. So the above two must amount to more than 2% of adjusted gross income to be deductible.

II. Casualty loss deductions

A. Framework of § 165

B. Statutory requirements and limits

C. Dyer

D. Blackman

E. Handout 14
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I. Casualty loss deductions

A. The framework of 165

1. note personal consumption is not deductible.

2. really sort of helps the deprivation in value due to something outside of your control which is not just personal consumption.

B. Statutory requirements and limits under 165

1. realization - exchange of materially distinct entitlements

1. must abandon the property in its entireity, need closed and completed transaction.

2. decline in fmv is one measure of the loss, but always a limit in place that is lower than the fmv difference.  So, you make take lesser of the first and the basis.  

1. makes sense as tax logic that tps loss just should never exceed the tps basis in the property.

3. $100 per casualty reduction.  Sort of deductible 

4. Only deductible to the extent it exceeds 10% of AGI, so only above floor, not backward looking.

C. Now, what constitutes a realization event that will allow deduction.

D. Dyer v. Commissioner - cat has seizure and destroys a vase.

1. first fit ever, so taxpayer argues unforseeable.

2. vase broken is part of set, tps claim deduction based on decline in value after now having repaired.

3. general principle to construe statute is if we have items listed in a statute in a string, and then a general term, then we construe the general term to be like in nature to the specific terms.  (ejusdem generis)

4. Court says this is not close enough to the others to allow for a deduction.

5. before the 100 dollar limitation, or case would be n/a.

E. Blackman v. Commissioner

1. husband transferred to SC, then wife unhappy and returns to Baltimore home.  Husband goes back to get her to give it another chance.

2. finds out another man is living in the house with the wife.  Neighbors tell him of longterm affair.

3. party, guests won't leave, and he starts breaking windows.

4. Next day burns her clothes on the stove, then douses them, but the house burns down anyways.

5. So, claiming casualty loss for deduction, which is specified, but the Court does not allow.

6. Court says Negligence would not prevent claim, but here he was grossly negligent, which is like intentional actions.  So, deduction not allowed.  

7. This is especially true where it might contravene the public policy of MD, which is to prevent arson and to not encourage dispute settlements through burning personal property.

F. Two things emerge in construing other casualty provision under this statute

1. suddenness - not gradual decline in value, but a sudden uncontrollable difference.  Gradual decline is more in the nature of personal consumption.

2. unforeseeability must be there too - if foreseeable event, then it is in the nature of how the tp has chosen to use that personal item.  

3. Ideas overlap, but the above two are what court focuses on in construing the term other casualty.
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1. gets deduction, AGI gives us threshhold of 9k - so loss exceeding 9k is allowed.  Note for theft, etc. they have been completely destroyed or abandoned, so lesser amount used between fmv and basis, then per casualty you must subtract 100, per casualty event.

1. note tv and stereo together are one casualty event, so only take off 100 for both.  

2. total 12,100, so casualty loss deduction is 3,100, b/c the 9k is a floor, so amount exceeding the floor is deductible.

2. so look at difference, and see loss, then you take out the insurance, and we end up the car difference is 6400 after the 100.  Total deduction is 8600, but no deduction allowed b/c the loss does not exceed the 10% of AGI required.

3. provision in code says you must pursue insurance for all loses, and if you fail to do so, then you are treated as if you did claim and received funds up to the amount of insurance you have.  If you don't know what the prospect of recovery is, you have to pursue if a reasonable prospect of recovery.

4. so loss is 300k, so he is entitled to the lesser of decline in fmv(300k) or 150k or basis.  So, loss is 150k.  But he is compensated fully for this loss.  Here casualty gain - so 125k casualty gain.  Section 121 allowed to apply so up to 250k allowed for sale or such of principle residence - so the gain is exempt.

1. 1033 can defer recognition of gain on involuntary conversion.  She can defer to the extent tp reinvests the funds in similar property within that time period.  Deferral until you sell the reinvested property.  So, basis will build in later.

2. note casualty gain is capital gain not regular income.

5. number 3 - 2400 dollar deduction as a casualty loss.

6. Now basis is changed because we have to deduct what he claimed as a deduction, so subtract 2400.  So, basis is now 77,600 to reflect the recovery under tax stuff.  So then, capital gain on sale is 400.  

1. abandonment or worthlessness req. is where you are claiming a deduction for the entire property, but if you are only claiming a decline in fmv based on casualty loss, then it is okay.

II. Next two are circumstances where unlike usual we allow deduction for otherwise considered personal deductions.

III. Extraordinary medical expenses

A. The requirements of 213

1. not compensated for by insurance or otherwise

2. for care of tp, spouse, or dependant,

3. to the extent that loss exceeds 7.5% of AGI,

4. so the idea is similar to the casualty loss deduction.  Goes back to the income tax theory of allocating tax burdens in accordance with ability to pay.

B. Taylor

C. Ochs

IV. Charitable contributions

A. Eligible receipts

B. Amount of deduction 

C. Limits
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I. Extraordinary medical expenses

A. Again tied to a floor amount and must exceed to be deductible, this is 7.5%.  Requires excess of that, and again only covers what was not covered by insurance.  Remember supposed to be compensation for extraordinary medical expenses.

B. So, question left is what is a medical expense.

C. Taylor - allergies, and dr. says don't mow the lawn, so the man hires a lawn mower for 150/yr.  So, if no allergies, then there would clearly be no deduction.  Allergies make this difficult.

1. generally has to be more than a usual person experiences.

D. Ochs - two young kids, and dr. says wife should not spend time with them because of cancer.

1. then enrolled in private school, but she came back home after the cancer was gone.

2. but for causation does not seem to be enough here, because there is another but for cause in the existence of the children at all, so makes it a little easier.

3. not the same as medical care, where it has some element that is not really medical care.

II. Charitable contributions

A. Important point is difference between organization run not for profit, under §501(c)(3) - tax exempt.  But, not all of these allow for deduction if you donate to them.  For example political party.  

B. Narrow definition in 170(c) - general defs.

C. Common also for organizations to split, between the advocacy portion and the charity portion, which allows for this qualification.

D. Eligible recipients - see 170c

E. Amount of deduction - most contributions to charitable organizations are in the form of cash, and are simply deductible in the amount of the cash contribution.

1. Where capital gain property contributed to the organization, then the deduction is for the full fmv of the property in question.  

2. Also, it must be long term capital gain property.

3. If short term capital gain, then limited to the tp's basis.

F. Limits tied to AGI

1. 50% AGI limit on charitable deductions generally, regardless of type of contribution.

2. Also, 30% of AGI limit on captial gain property contributions.

3. Also, worry about §68, where itemized deductions phased down where you are over a certain cap.

4. Compute internal limitations first under 170, get total itemized, then apply section 68.

5. For amounts exceeding the caps, there is a carryover provision for up to four years, the stuff cut off by section 68, then that is just lost, that is not carried over in any way.

G. Some push to make this above the line deduction above and beyond the itemized deductions.  But, this would be expensive and has not been implemented, if this were to be used, then all would benefit even those taking standard deduction, so lower income people would get too.  

III. Travel & entertainment

A. Mixed motives generally - comes up in a lot of areas, 

B. Questions we ask to see if you can deduct

1. Otherwise deductible?

1. 162

2. 212

2. Is it disallowed by 274

1. We also have some express disallowance provisions.

C. Statutory framework:  § 162 and 274

D. Rudolph

1. deduction?  No deduction claimed.  Rudolph wants an exclusion only, not a deduction, note importance in the terminology.  

2. disposition - dismissed as cert. improvidently granted.  This is a purely factual statement, so it was only reviewed for clear error.

3. standard - Whether the primary purpose is business related is the only question to ask, so turns on subjective motivation of tp, so purely factual and turns on factual determination only.  So, USSC only hears broader questions, and not questions where it is only relevant to certain individuals.

4. note application of 132d***

E. section 274 - enacted after rudolph

1. allows entertainment or amusement stuff related to or preceding or after, then deductible.

2. Under 162 - notice the question is only primary purpose of the event, if primary purpose is business deductible.

3. Then, you must apply 274 to see if actually deductible.

4. narrower than under 162a 

5. the biggest thing this excludes is expenditures for good will.

6. also applies procedural requirements.  So, substantiation requirements

1. who

2. bus. Purpose

3. amount, etc.

4. see (d)

7. flat limitation of 50% of the otherwise allowable expense is deductible.

8. for bus. Meals says expense cannot be lavish or extravagant, which is usually loosely interpreted.

9. person from firm must be present at the event.

10. this is a mixture of sensible limits combined with bright line arbitrary rules.

F. Important that we do not refer to section 274, when we are talking about 132.  132d only refers to section 162.  For exclusion only ask if excludable under 162.

G. Example - employee - potential client taken out.  Dinner and sports game

1. employee pays on her own credit card, but submits a reimbursement form, and sets out all of substantiation requirements.

2. total cost is 250.

3. Employee treatment?

1. ask if this is necessary and ordinary expense? To find out was this primary purpose bus?  So, if deductible under 162 had she incurred the expense herself, she is entitled to exclude under 132d.  So, direct bus relationship.

4. Employer treatment?

1. Ultimately they incur the expense, because they rightfully reimbursed the employee.

2. So, first ask 162 - was primary purpose bus related?  Yes.

3. Now apply 274 - not allowed because purely good will not permitted.  A will completely disallow before we get anywhere else.  So, they must have talked bus at some point, because if purely good will then disallowed completely.

4. So, if some bus. Then we get to limitations

a. Not lavish under the circs.

b. Deduct 50% only, so 125, so n.  because meal subject to this limitation.

5. Note 274 only applies to the tp claiming the deduction, not exclusion.  So, Employer is the only one that gets to 274 in this case.

H. moss

I. question 3 page 430.
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I. Exam stuff

A. May 8th, 830am, 3 hours

B. Completely open book, but

1. you cannot use computer to search notes, etc.

2. no library books

C. reccomend bringing a calculator

D. format - mixture of multiple choice and short essay questions.

1. mc content of questions will be same as content of other exams.

E. Old exams and model answers available

1. answers are explanations to exam answers, more comprehensive than expects for students.

F. Extra office hours, and when review session is later.

II. Travel and entertainment

A. Moss - insurance defense firm, very busy in Chicago

1. trying to deduct daily business lunches with rest of the firm and court does not allow.

2. not ordinary or necessary expense under 162 - looks at primary purpose as having to be business related.

3. While their meeting was necessary, it was not necessary to meet over lunch, so the lunch itself was unnecessary as a bus expense.

4. Different then times where bus itslef might have some bus reason.  So, when meal itself is an organic part of the bus transaction.

5. Here people know each other all the time, so lunch itself is not necessary.  They do need to meet, but not over lunch necessarily.

6. Could potentially deduct the location cost for meeting - this is because they had to meet.  But, the food itself not.  TP here made no effort to sort the different parts out, so no need to allow.  

B. Question 3 on p.430

1. deductible, ordinary and necessary bus expense.  Individual if person is olo practitioner, or if partner they will.  If associate - then reimbursed and firm/partners take.  Note 274n still applies and only half is deductibel.  If not reimbursed, then she can deduct the 50% limitation.  But, the individual will run into section 67 - and min. AGI floor for deductions.  Two sig exceptions that must be under 67 - one is unreimbursed employee expenses.

2. depends on if personal reasons or business reasons.  If client hired lawyer to do business stuff, the client might be able to deduct, but still subject to all the limitations.

3. Here deductible under 162 - but still not allowed under 274, because directly related to bus or associated with bus and immediately preceding or following bus stuff.  Specifically Congress did not want to allow this type of deduction.  They didn't want any items expended for the gathering of good will only.

4. really a bus reason for having this meeting over lunch, so this seems to be a legit bus thing.  Still somewhere in between the two.

1. Note really tps do deduct, but when flagrant the IRS likely catches.

5. seems yes, b/c bus, but possibly this is a large firm and really need to show they don't know each other that well.

6. Possibly no, b/c they know each other pretty well, possibly deductible if frequency was Moss' main concern, but if partners not so friendly, possibly necessary here.  

III. Dependant care expenses

A. Smith - husband and wife both work, and hire a nanny to care for their child.

1. they deduct their expenses for child care, at this time, there were not many wives working outside the home.

2. Tax court says this is a personal expense.  Basically says dependant care expenses are not business expenses, and so not deductible.

3. pretty much stands in the courts and Congress.  

B. Work disincentive for secondary earners

1. encourages second worker to drop out of workforce or not to enter the workforce.

2. also as income increases the marginal rate goes up.

3. change from no more tax consequences, and no dependant care, to taxing as if next dollar earned is added onto original and now you have to pay for a babysitter.

4. so we want people to make their best choices without thinking about tax consequences.

C. Current treatment - Congress responses

1. §21 credit - dependant care credit, applicable % multiplied by the employment-related expenses.  Then, 35% is minus 1% per 2k (or fraction thereof) over the 15k, then the floor is 20k.  

1. also for 1 kid 3k, for 2+ 6k, and then cannot exceed one of spouses incomes, 

2. must enable taxpayer to work outside the home.

3. if tp uses this type of plan and excludes part from income, they must reduce the level of employment related expenses excluded under 129

4. value of exclusion still depends on marginal rate of tp too.

2. § 129 exclusion - allows employers to provide for employees up to 5k for dependant care expenses, fully excludable.  129 works to allow the cafeteria plans

IV. Commuting and moving expenses

A. Two basic questions

1. are commuting costs deductible.

2. if not, how do we distinguish commuting expenses from ordinary and necessary travel expenses in the pursuit of business.

B. 162a2 includes ordinary and necessary travel expenses away from home.  So, when does commuting cross the line to be a travel expense covered under 162.
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1. 1a - No, because of Flowers codification - basic import of Flowers is no deduction for commuting as an expense.

1. Flowers said purely personal decision to live there, so it is not a bus expense, so if reason you are so far away from your job is personal, then you are not allowed to deduct it.

2. 1b - commuting expenses not deductible still, regardless of what he is doing on his commute under Moss.  Talking about bus while doing personal stuff does not make that an ordinary and necessary bus expense.

1. cell phone bill likely deductible if you parse it out like that.  The phone call is clearly a bus expense.

3. 2 - fully deductible under 162a2 - but must not be extravagant.  Meals and lodging is what cannot be extravagant or lavish.  So, airline travel can be lavish, but just fully deductible.  Meals deductible and hotel deductible, and neither can be lavish or extravagant under the circumstancs.

1. don't forget 274n and the 50% cap on bus related meals

2. some understanding that you will have to spend more and it is forced because of business, so only fair.

3. especially for hotels, because your rent or mortgage do not go away when you go on trips like this.

4. 3 - a - legit bus purpose for both places, so deductible

5. 3b - difference here is that it is temporary, and bus locations in both places.  So deductible here.

6. 3c - first 8 months deductible, but second 6 months not deductible.

1. indefinite time period after 1 year.  The moment the tp learns he must stay longer than 1 year, but then it is not deductible from that point forward.

7. 3d - since anticipates being there for 14 months, then nothing deductible regardless of eventual actual duration.  So, he never thought he was going temporarily, so not deductible.
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I. Moving expenses, sec 217

A. Usually a blend of personal and business

B. There is a requirement of distance for the move.  This prevents moves that just happen to coincide from being deductied.

C. C2 - conditions re:  length of time of employment - prevents people from deducting cost of moving to retirement as a deductible expense.

D. Added to put those reimbursed by employers for expenses on the same footing as those that are not reimbursed.

E. Above the line deduction - used in move from gross to adjusted, means that you can use and still get standard deduction, so not subject to 68 or 67 requirements

II. Distinguishing current expenses from capital expenditures - under 162a for ordinary and necessary - as modified by 263 and 264 - these are all business expenses, so question is only when is tp allowed to recover the cose.

A. Two choices really:

1. immediate deduction - as if a current expense, or 

2. recover later, through capitalization.

1. more for over a period of years, 

2. capitalizing the cost means the cost goes into the basis in the asset.

3. so, recovery through capitalization can be done through depreciation (ACRS) or amortization.  

B. Question of timing

C. Essential distinction - does tp get immediate deduction, or must they capitalize the expense.

1. General rule - all expenditures in the creation or acquisition of a long-lived asset (means asset that will produce income beyond tax year in question), this is whether direct or indirect, must be capitalized.

2. the above is the first order question.

D. Wasting and non-wasting assets - only assets subject to depreciation are wasting assets.  Non-wasting asset you can only recover the cost at a realization event.

1. if wasting you can use depreciation, etc.

2. if nonwasting tp can recover only upon ultimate disposition for recovery of basis.

3. this is the second order question - so then find out if subject to depreciation/amortization or not.

E. Indirect expenses

1. seem to include all expenses that go towards developing a capital asset.

F. Encyclopedia Britannica - decided at a tiem where the law is very inconsistent.

1. weird here b/c normally they do all the work in house, but here shorthanded, so they hire outside to take care of the manuscript.

2. if in house, it could deduct immediately, so P did so, the IRS says they must capitalize

3. statutory framework

1. 162a - permits all ordinary and necessary expenses to be deducted, but we also have

2. 263a - which disallows immeidate deductions for capital expenditures.

4. posner says without any precedent, this is a long-lived asset, so that it would be capitalized.

5. problem is Faura decision re:  publisher deductions.

6. Idaho Power - more recent and intervening case from USSC, in footnote, but more important than that.

1. Idaho power started by purchasing trucks.

2. trucks are wasting assets, so they are subject to depreciation deducitons, after capitalizing the cost of the truck.

3. Court says the truck was used exclusively in the creation of power lines - so the cost of the truck's wear and tear under the depreciation deduciton was actually a cost in producing a long-lived asset, therefore instead of tkaing the deduciton at this time, yolu must capitalize the expense once again into the creation of the power lines.

4. so this is the case that said that even indirect expenses must be capitlaized.

5. But, the 10th cir. Rule is in tension with this.

7. So, Posner chooses one rule of law, thendistinguishes the other.  He says Idaho Power makes sense, and should govern.

8. holding - so line up expenditures with the generation of income, so P has to capitalize the expense, and the costs goes into the basis of the book, and can then get the captialization over the life of the asset. 

9. goal again is matching the income with the asset to decide deduciton.

10. so system matches decline in amount to time the assets decline in value.

G. UNICAP rules of sec 263A - codified that all stuff in the acquisition of long-lived assets must be capitalized.  

1. long-lived assets

2. inventory  - counts for capitalization too.

3. examples

1. tp hires architect - capitalized cost, even if fire one architect and hire a new one, then still goes into the overall cost.  If building not built, then perhaps can deduct as not going into creation of long-lived asset

2. what if the company hires commercial real estate agent, to go and look for building for company.  Must be capitalized because part of acquisition of long-lived asset, the building.

3. what if beer company - hires advertiser, good will is goal, so this may be a way to invest long term.  Congress has realized difficulty in calculation, so Congress' solution is to say that marketing and advertising deductible immediately.

4. what about R+D person hired by a pharmaceutical company - 174 - deductible immediately.  Again seems like it goes towards the creation of long-lived assets, so tension there with general rule.

III. repairs and improvements

A. why do we need to distinguish?

1. goes back to distinguishing current expenses and capital expenditures.

B. Reg 1.162-4 - if kept in ordinary condition of operation is repair, so it is not a capital expenditure.

1. so long as value is not increased, but restored value, which is done in order to keep things operational, then it is a repiar. 

2. If it in any way increases the value of the property or value of operation based on fix then it is a replacement and is a capital expenditure.

C. Midland Empire - bacon production in the basement, and oil seeps in to effect the business.

1. Federal investigators come in and say that they must fix or the business will have to shut down

2. bus lines basement with concrete, which fixes.

3. Midland takes 5k deduction, calling it a repair.

4. IRS says this must be capitalized and go into the basis of the asset, can only be recovered through depreciation over the life of the building.

5. Court says this was a repair that is immediately deductible.

6. If oil refinery was there before this bus which is opposite of real situation, then the company would likely have to capitalize because then it was more a faulty construction of the initial business so this is more of a replacement.  If fine with refinery for a while, then it gives out, it is more like normal wear and tear, then this is more time for an improvement or making good on previous depreciation.

7. Logically the court's decision makes sense.
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I. Repairs and improvements

A. Recap of Midland Empire - raises question of repair or improvement, this has to do with the context.  So, things like time line, and when the repair was required, as in original construction vs. later developments.

1. so court says repair and need not be capitalized.

B. Question of foreseeability - plays a role as whether we think this is repair or improvement.

C. Sometimes difficult to just categorize, but some examples in the book reflect which may be best characterized.

D. Think also about 165c for casualty losses also, where that is for personal losses, this could still be somewhat included, but we might have a problem with a closed and completed transaction or a realization for a loss.  Cost to repair is also the best measure for how much the loss is worth to the company.

II. Depreciation

A. Definition - Depreciation is an allowance for the expected decline in value due to wear and tear or obsolescence of an asset used to generate income.  Only applies to wasting asset,  because if non-wasting asset depreciation is irrelevant to asset.  Note it must be an asset used in trade or business or an investment, this cannot be for personal purposes like a personal residence or a personal car.  Personal purposes asset is personal consumption which is not a deductible expense.  This is not deductible per 262, or tax logic in general.  Again this is recovery of basis through depreciation.

B. Basic rules - need to determine what is useful life and how to allocate basis throughout

1. useful life  - for most assets the code dictates this duration specifically - always provided for us if depreciation is at issue on a question for exam.

2. we need to spread basis over the useful life.  This entails two questions.

1. applicable method - 

a. straight line - pro rate recovery of basis over the life of an asset, recall that it is the same as recovery for annuities.

b. Declining balance method - not expected to be able to compute, the one where we double straight line in first year, then we take the percentage and double for the next year but apply to remaining balance.  After we get to a point where the deduct will be more than straight line we switch back to it.

c. The declining balance method is the more favorable to the taxpayer.

2. applicable convention - applies to the 1st and last years of the asset

a. personal property, we use mid-year convention - so just use exact midpoint of the year.  So in first and last years of use tp can deduct one half of the otherwise allowable deduction.

b. Real property:  we use the mid-month convention, so divide annual into 24ths of deduction and then multiply out to get it.

C. additional details

1. adjustment to basis - depreciation is a method of recovering basis at its core, so as depreciation deductions are taken, the tp must adjust basis accordingly.

1. Also, the adjustment to basis is based on the allowable depreciation deduction, whether the tp takes the deduction or not.

2. transfers of depreciable property - 

1. by sale or exchange - basis determined according to regular rules as throughout the course.  The point here is that the depreciation clock restarts.

2. by gift - rule is different, rules for basis on gift, with one exception for loss and the lower basis re:  fmv, but for our purposes the donee stands in the shoes of the donor, and we apply carryover basis.  

3. recapture - considerations re:  kind of income.  Basic rule is if gain on the sale of property that has been depreciated is as a result of depreciation outpacing the actual decline in value.  So, tp reduced basis faster than fmv declined, that gain must be treated as ordinary income.  This is b/c the depreciation deductions are being used to reduce ordinary income.

1. only applies to personal property now.  For real property acquired after 1986, the recapture rules no longer apply.
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1. In 2000, beginning basis 100, then no depreciation, ending basis is the same, because not in  service yet.  For 2001, we take the half because it is half-year convention, so tp is entitled to half the otherwise allowable amount so 10k, and new basis is ending basis.  For remainder of the years, you take 20k per year as the pro rate share.  Then, in 2006, we take depreciation of only 10k because that is all that is left of the basis.  You can only deduct up to the basis value, this is why this is the case.

2. In 2002, the starting basis is 90, and as per half year convention, we count a half year of service.  So, they are entitled to a deduction of 10k for half of the otherwise allowable depreciation deduction.  So, basis at sale is 80k.  So, then we have a gain of 5k on the sale of the truck.  Then, we must look at recapture question - ask if gain is a result of depreciation moving more quickly than the depreciation of the asset allocated.  This gain is ordinary income because it is subject to the recapture rule as personal item. For the 105k sale, 20 is ordinary income because its limit is the depreciation deduction total.  The other 5k is really just a gain on the property, so it is capital gain for tax purposes.

3. Note first land does not count for depreciation, so we have to deduct the land value from total acquisition price.  So, beginning basis is 1.32 mill.

1. then divide total basis by 27.5 as per year deduction otherwise allowable.  So 48k per year.

2. Then look at the convention applicable or mid month, so look at how many 24ths.  So 19/24ths of the total deduction otherwise allowable is what we get for 2004.  So, get 38k deduction in 2004.

3. Then calc basis at the end of 2004 which is 1.282 mill.

4. So, 2005 starts here, then get full year or 48k, then reduce basis accordingly.  So, end result is 1.234 mill as ending basis for 2005, but then we must add back the basis in the land in order to get overall total for the property.  Answer is 1.914 mill in whole property.

4. treat as if took deduction anyways, so same as previous but minus another 48k for 2006.

5. a - no amortization under 197 b/c self-created, which is not allowed under c.  197 in general covers intangible assets that are part of an acquisition.  Copyrights are depreciable under 167, and cost can be recovered over life of the asset, so use copyright lifetime.  Straight line here too once figured out.

1. b - yes - under 197 amortization, and 15 ratable, and will be straight line method.

2. c - straight line under 167, but is this a wasting asset - get nothing.  Also generally no basis in self-created.

3. d - under 197 c goodwill, b/c in acquisition 15 year ratable straight line method.  
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I. Annuity question

A. In annuity, you are really lending money, and then you will get back later.

B. Economic reality would look at implicit interest that would be earned per year, and then force the person to recognize that.

C. Annuities treated more favorably though, because we want to encourage this.

II. Example of like kind exchange

A. Fmv for A= 200, for B = 250

B. Basis A=50, for B=

C. Cash Boot, A=50, B=

D. Amount realized is 250 for A because that is all he is receiving, basis is 100, then gain realized is 150, so recognized is 0.

E. When taxpayer is transferring boot, new basis = old basis + fmv of boot transferred.  So, here 50 plus 50 is 100 as new basis.

F. Where taxpayer receives like kind property, we use new basis = old basis + gain recognized - fmv of boot received.

III. Above the line can be combined with the standardized deduction, if it is a below the line deduction, then you must choose between taking the standard deduction or itemizing with this one.

IV. Stocks - three important events

A. Moment at which employer transfers option to employee which is called the grant.

B. Moment of exercise - where option holder (employee) exercises option to purchase stock.

C. Sale of stock

V. Lucas v. Earl - stands for basic rule that tp cannot transfer tax liability from themselves to another.

VI. Net operating loss deductions

A. What if salary is 40k, business loss is 80k, standard decution is 5k, investment income is 7k.

B. Now, we look at investment incomed and settle up with standard deduction, for 2k.

C. Then we take this number out of the salary and get the net operating loss accounted for.

VII. Question 1 - 2005

A. Best to have systematic approach, and possibly tp by tp, or year by year, or issue by issue, but need some system.

B. Buys 1k shares, for 30k.

C. Gives to barabara 300 shares for 2850, Claudio gets the other 700 shares, then gives to Daniel dividends for 10 years.

D. Gift from Claudio to Daniel is pure income gift because donor is keeping the underlying property.

E. Claudio sold in January 98 fmv 39, then 200 shares to Eric.

F. Total gain basis for Barbara is 9k, so if she sells for 8700 she has no gain, but her loss basis would be 300 times 28.50, so basis is 8500.  So, if sale price is in between the two means no gain, no loss, no tax consequences.

G. Dividends - 93-97 Claudio retains underlying property so he is taxed on dividends.  Jan. 98 underlying property goes to Eric - now Erwin v. Gavin.  So, 98-02 dividends taxed to Daniel, because of that complete transfer now.

H. Eric sales in 04 - Eric's basis is 30 per share as carryover, so total basis 21k, so his sale for 37k, his gain is 16k as a result.

